
GE N E RAL  CATALOGU E
C A T A L O G O  G E N E R A L E

GE N E RAL  CATALOGU E
C A T A L O G O  G E N E R A L E

GE N E RAL  CATALOGU E
C A T A L O G O  G E N E R A L E

GE N E RAL  CATALOGU E
C A T A L O G O  G E N E R A L E

GE N E RAL  CATALOGU E
C A T A L O G O  G E N E R A L E

GE N E RAL  CATALOGU E
C A T A L O G O  G E N E R A L E



WHEEL LOCKS 
AND STANDARD
WHEEL FASTENERS
B U L L O N I  A N T I F U R T O 
E  B U L L O N E R I A 
S TA N D A R D  P E R  R U O T E

12

ROOF BARS
B A R R E  P O R TAT U T T O

50

ROOF BOXES 
B A U L I  P O R TAT U T T O

60

BIKE RACKS 
P O R TA B I C I

92

BI-COLOR 
WHEEL COVERS 
C O P R I C E R C H I  B I C O L O R E

PREASSEMBLED BI-COLOR

COPRICERCHI BICOLORE  PREASSEMBLATI

102

104

UNIVERSAL 
WHEEL TRIMS
C O P R I C E R C H I 
U N I V E R S A L I

114

WIND 
DEFLECTORS
D E F L E T T O R I  D ’ A R I A

122



54

Farad was founded in  1974 in  the f ie ld 
of  mould  construct ion for  the automotive  sector. 
Thanks to  sustained ef for ts  over  the years  today our 
company stands,  not  only  as  an establ ished par tner 
of  most  car  makers ,  but  a lso  as  a  leader 
in  the af ter-market  development and marketing 
of various products which can boast 
and guarantee 100% made in Italy.
Here’s  a  rundown of  our  main  products :
• 	 Roof  boxes
• 	 Roof  bars
• 	 Air  def lectors
• 	 Universal  wheel  tr ims
• 	 B i-color  wheel  tr ims
• 	 Wheel  locks
• 	 Bolts  and nuts  for  wheels

L a  F a r a d  n a s c e  n e l  1 9 7 4  n e l  c a m p o  d e l l a  c o s t r u z i o n e 
d i  s t a m p i  p e r  i l  s e t t o r e  a u t o m o t i v e .  G r a z i e  a d  u n  i m p e g n o 
c o s t a n t e  n e l  c o r s o  d e g l i  a n n i ,  o g g i  l a  n o s t r a  a z i e n d a 
s i  a f f e r m a ,  o l t r e  c h e  c o m e  p a r t n e r  c o n s o l i d a t o 
d e l l a  m a g g i o r  p a r t e  d e i  c o s t r u t t o r i  d ’ a u t o ,  a n c h e  c o m e 
l e a d e r  n e l l a  r e a l i z z a z i o n e  e  c o m m e r c i a l i z z a z i o n e 
n e l  s e t t o r e  a f t e r - m a r k e t  d i  d i v e r s i  p r o d o t t i 
c h e  p o s s o n o  v a n t a r e  e  g a r a n t i r e  i l  1 0 0 %  m a d e  i n  I t a l y .

E c c o  u n a  c a r r e l l a t a  d e i  n o s t r i  p r o d o t t i  p r i n c i p a l i :

• 	 B a u l i  p o r t a t u t t o 
• 	 B a r r e  p o r t a t u t t o
• 	 D e f l e t t o r i  d ’ a r i a
• 	 C o p r i c e r c h i  u n i v e r s a l i
• 	 C o p r i c e r c h i  b i c o l o r e
• 	 A n t i f u r t i  p e r  r u o t e
• 	 B u l l o n i  e  d a d i  p e r  r u o t e

GENERAL PRESENTATION



76

The range is designed 
in its entirety by our research 
center,  which operates with 
computerized systems and the 
latest generation machineries. 
The production plants,  equipped 
with the best technology adapted 
for the product,  together with 
the experience and the constantly 
updated range, guarantee 
the customer high quality 
and easy to assemble products.
Our extremely wide range 
of products,  developed over 
the years,  positions us as market 
leader both nationally 
and internationally, 
recognized for our quality 
and originality.  Specialized staff 
carry out the entire design, 
development and manufacture 
of moulds for the production 
of our products.

L a  g a m m a  è  i n t e r a m e n t e  s t u d i a t a 
d a l  n o s t r o  c e n t r o  s t u d i ,  c h e  o p e r a 
c o n  s i s t e m i  c o m p u t e r i z z a t i 
e  m a c c h i n a r i  d i  u l t i m a  g e n e r a z i o n e . 
G l i  i m p i a n t i  d i  p r o d u z i o n e  d o t a t i 
d e l l e  m i g l i o r i  t e c n o l o g i e  a d a t t a t i 
a d  o g n i  t i p o  d i  p r o d o t t o , 
u n i t i  a l l ’ e s p e r i e n z a  e d  a l  c o s t a n t e 
a g g i o r n a m e n t o  d e l l a  g a m m a , 
g a r a n t i s c o n o  a l  c l i e n t e  p r o d o t t i 
d i  a l t a  q u a l i t à  e  d i  f a c i l e  m o n t a g g i o .
L a  v a s t i s s i m a  g a m m a  s v i l u p p a t a  n e g l i  a n n i 
c i  p o s i z i o n a  s u l  m e r c a t o  n a z i o n a l e 
e d  i n t e r n a z i o n a l e  c o m e  l e a d e r  r i c o n o s c i u t i 
e d  a p p r e z z a t i  p e r  l a  n o s t r a  q u a l i t à 
e d  o r i g i n a l i t à .  P e r s o n a l e  s p e c i a l i z z a t o 
s i  o c c u p a  i n t e r a m e n t e  d e l  d e s i g n ,  d e l l o 
s v i l u p p o  e  d e l l a  c o s t r u z i o n e  d e g l i  s t a m p i 
p e r  l a  p r o d u z i o n e  d e i  n o s t r i  p r o d o t t i .

To meet the continually 
increasing demand, we have, over time, 
implemented a continuous development program 
in our human resources,  in our facil ities 
and in our infrastructure. 
This led to a current workforce of over 
300 employees working in the design and co-design, 
in the production and marketing of products 
for both OEM and after-market customers using 
the latest generation of highly technological plants 
and machineries.  We combine elevated productivity 
with excellent quality,  maintaining an absolute 
respect for the environment. 
An example is the water-based coating system, 
solvent-free and highly eco-friendly. 
Our headquar ters and two factories form the core of 
the entire production system which extends over an 
area of 120,000 m², of which 60,000 m² is covered. 
Innovation and research, through continuous 
product and production cycle improvements, 
have always been the guidelines of our group, 
which, meeting with increasing customer 
satisfaction, allow us a continuous 
growth in the automotive market.

P e r  f a r  f r o n t e  a l l a  c o n t i n u a  e  c r e s c e n t e  d o m a n d a , 
a b b i a m o  a t t u a t o  n e l  t e m p o  u n  i n c e s s a n t e  s v i l u p p o 
d e l l e  r i s o r s e  u m a n e ,  d i  m e z z i  e  i n f r a s t r u t t u r e . 
Q u e s t o  c i  c o n s e n t e  d i  d i s p o r r e  a t t u a l m e n t e  d i  u n 
o r g a n i c o  d i  o l t r e  3 0 0  d i p e n d e n t i  i m p i e g a t i  n e l  d e s i g n 
e  c o - d e s i g n ,  n e l l a  p r o d u z i o n e  e  c o m m e r c i a l i z z a z i o n e 
d e i  p r o d o t t i ,  s i a  p e r  i  c l i e n t i  O E M  c h e  p e r  l ’ a f t e r - m a r k e t . 
U t i l i z z a n d o  m a c c h i n a r i  e d  i m p i a n t i  a d  a l t o  c o n t e n u t o  t e c n o l o g i c o , 
d i  u l t i m a  g e n e r a z i o n e ,  u n i a m o  a l l ’ e l e v a t a  p r o d u t t i v i t à , 
u n ’ e c c e l l e n t e  q u a l i t à  n e l l ’ a s s o l u t o  r i s p e t t o  d e l l ’ a m b i e n t e . 
U n  e s e m p i o  è  l ’ i m p i a n t o  d i  v e r n i c i a t u r a  a l l ’ a c q u a , 
s e n z a  s o l v e n t i  e d  a l t a m e n t e  e c o l o g i c o . 
U n a  s e d e  e  d u e  s t a b i l i m e n t i  c o s t i t u i s c o n o  i n f i n e 
l a  s t r u t t u r a  p o r t a n t e  d e l l ’ i n t e r o  s i s t e m a  p r o d u t t i v o 
c h e  s i  e s t e n d e  s u  u n ’ a r e a  d i  1 2 0 . 0 0 0  m ² , 
d i  c u i  6 0 . 0 0 0  m ²  c o p e r t i .  L’ i n n o v a z i o n e  e  l a  r i c e r c a , 
a t t r a v e r s o  i l  m i g l i o r a m e n t o  c o n t i n u o  d e i  p r o d o t t i 
e  d e l  c i c l o  p r o d u t t i v o ,  s o n o  d a  s e m p r e  l e  l i n e e  g u i d a 
d e l  n o s t r o  g r u p p o  c h e ,  i n c o n t r a n d o s i  c o n  l a  c r e s c e n t e 
s o d d i s f a z i o n e  d e l  c l i e n t e ,  c i  c o n s e n t e  u n  i n i n t e r r o t t o 
e  p r o g r e s s i v o  s v i l u p p o  n e l  m e r c a t o  a u t o m o t i v e .



98

OUR MISSION QUALITY
Responding to market needs 
and customer requirements, 
our mission is to create extremely 
safe,  easy to install  products, 
which integrate as much as possible 
with the specif ic style of the cars. 
We also offer a fast and eff icient 
customer service both in Italy 
and worldwide.

D a  s e m p r e  a t t e n t i  a l l e  e s i g e n z e 
d e l  m e r c a t o  e d  a l l e  r i c h i e s t e 
d e l  c l i e n t e ,  l a  n o s t r a  m i s s i o n e 
m i r a  a  c r e a r e  p r o d o t t i  e s t r e m a m e n t e 
s i c u r i ,  f a c i l i  d a  i n s t a l l a r e 
e  c h e  s i  i n t e g r i n o  i l  p i ù  p o s s i b i l e 
a l l o  s t i l e  s p e c i f i c o  d e l l e  v e t t u r e . 
S i a m o  i n o l t r e  i n  g r a d o  d i  o f f r i r e 
u n  s e r v i z i o  c l i e n t i  r a p i d o  e d  e f f i c i e n t e 
i n  I t a l i a  e  n e l  m o n d o .

Our company has implemented 
quality systems throughout 
a l l  phases  from design 
to  the production cycle. 
In  order  to  ensure  the best  qual ity 
of  the product  we obtained the 
fo l lowing cer t i f icat ions :
• 	 ISO 9001
• 	 ISO 14001
• 	 IATF 16949 
In  addit ion ,  each product  categor y 
has  been subjected to  specif ic 
tests  in  order  to  obtain 
the approvals  required 
by  d i f ferent  markets .

L a  n o s t r a  a z i e n d a  h a  i m p l e m e n t a t o 
i  s i s t e m i  d i  q u a l i t à  l u n g o  t u t t e 
l e  f a s i  d a l l a  p r o g e t t a z i o n e 
a l  c i c l o  p r o d u t t i v o .
A l  f i n e  d i  g a r a n t i r e  l a  m i g l i o r e 
q u a l i t à  d e l  p r o d o t t o  a b b i a m o 
o t t e n u t o  l e  s e g u e n t i  c e r t i f i c a z i o n i :

• 	 I S O  9 0 0 1
• 	 I S O  1 4 0 0 1
• 	 I A T F  1 6 9 4 9 

I n o l t r e  o g n i  c a t e g o r i a 
d i  p r o d o t t o  è  s t a t a  s o t t o p o s t a 
a  p r o v e  s p e c i f i c h e  a t t e  a d  o t t e n e r e 
l e  o m o l o g a z i o n i  r i c h i e s t e  d a i 
d i v e r s i  m e r c a t i  d i  r i f e r i m e n t o .



1110

CUSTOMER SERVICE

SOCIAL NETWORK

T h a n k s  to  o u r  q u i c k  c u s to m e r  s u p p o r t  s e r v i c e , 
o u r  c u s to m e r s  c a n  e a s i ly  g e t  te c h n i c a l  i n f o r m a t i o n 
a n d  re c e i ve  s p a re  p a r t s  f o r  a ny  FA R A D  p ro d u c t 
q u i c k ly  a n d  e f f i c i e n t ly,  b o t h  i n  I t a ly 
a n d  wo r l d w i d e .

G r a z i e  a d  u n  s e r v i z i o  d i  a s s i s t e n z a  c l i e n t i  v e l o c e 
e  c o l l a u d a t o ,  p e r  i  n o s t r i  c l i e n t i  è  e s t r e m a m e n t e 
s e m p l i c e  o t t e n e r e  i n f o r m a z i o n i  t e c n i c h e  o  r i c e v e r e , 
i n  t e m p i  b r e v i ,  r i c a m b i  p e r  q u a l s i a s i  p r o d o t t o 
d e l l a  g a m m a  d i  p r o d o t t i  F A R A D , 
s i a  i n  I t a l i a  c h e  n e l  m o n d o .

Follow us on Facebook (www.facebook.com/faradworld)  
and Instagram (faradworld) where you will f ind 
all the activities and news on our Farad products. 
Enjoy watching our YouTube videos 
(www.youtube.com/faradworld) not only related 
to mounting the different products, but much more.

S e g u i c i  s u  F a c e b o o k  ( w w w . f a c e b o o k . c o m / f a r a d w o r l d ) 
e  I n s t a g r a m  ( f a r a d w o r l d )  d o v e  p o t r a i  t r o v a r e  t u t t e  l e  a t t i v i t à 
e  n o v i t à  d e i  n o s t r i  p r o d o t t i  F a r a d  e  d i v e r t i t i 
a  g u a r d a r e  i  v i d e o  Y o u t u b e  ( w w w . y o u t u b e . c o m / f a r a d w o r l d ) 
d o v e  p o t r a i  t r o v a r e  t u t t i  i  v i d e o  n o n  s o l o  r e l a t i v i  a l  m o n t a g g i o 
d e i  d i v e r s i  p r o d o t t i ,  m a  m o l t o  a l t r o  a n c o r a .



WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

WHEEL LOCKS AND
STANDARD WHEEL  FASTENERS

B U L L O N I  A N T I F U R T O  E 
B U L L O N E R I A  S T A N D A R D  P E R  R U O T E

FA R A D  L A U N C H E D  T H E  F I R S T  W H E E L  L O C K  I N  1 9 7 8 ; 
T H A N K S  T O  A N  O N G O I N G  R E S E A R C H  A N D  P R O D U C T ’ S 
D E V E L O P M E N T,  FA R A D  C O M PA N Y  I S  T H E  W O R L D W I D E 
M A R K E T  L E A D E R  I N  T H E  P R O D U C T I O N  O F  W H E E L  L O C K 
S C R E W S  A N D  N U T S  F O R  C A R S ,  VA N S  A N D  T R U C K S . 
B E I N G  T H E  O F F I C I A L  S U P P L I E R  O F  T H E  M O S T  I M P O R TA N T 
C A R  M A K E R S ,  FA R A D  H A S  O B TA I N E D  T H E  M O S T  D E M A N D I N G 
Q U A L I T Y  C E R T I F I C AT I O N S  I N  T H E  A U T O M O T I V E  S E C T O R . 
FA R A D ’ S  M A I N  G O A L  I S  T O  O F F E R  A  T E C H N O L O G I C A L LY 
A D VA N C E D  P R O D U C T  W I T H  H I G H  Q U A L I T Y  S TA N D A R D S  T H AT 
E N S U R E  A  L I F E T I M E  G U A R A N T E E  O N  M O S T  O F  O U R  P R O D U C T S .

I L  P R I M O  B U L L O N E  A N T I F U R T O  D E L  G R U P P O  F A R A D  V E N N E  P R E S E N T A T O  N E L  1 9 7 8 ; 

G R A Z I E  A D  U N A  C O N T I N U A  R I C E R C A  E  S V I L U P P O  D E L  P R O D O T T O , 

F A R A D  O G G I  S I  C O N F E R M A  C O M E  L E A D E R  M O N D I A L E  N E L L A  P R O D U Z I O N E 

D I  B U L L O N I  E  D A D I  A N T I F U R T O  P E R  R U O T E  D I  A U T O , 

F U R G O N I  E  C A M I O N .  C O M E  F O R N I T O R E  U F F I C I A L E  C O N S O L I D A T O 

D E L L E  M A G G I O R I  C A S E  A U T O M O B I L I S T I C H E  H A  O T T E N U T O 

L E  P I Ù  E S I G E N T I  C E R T I F I C A Z I O N I  D I  Q U A L I T À  N E L  S E T T O R E  D E L L’ A U T O . 

L’ O B I E T T I V O  C O M M E R C I A L E  D I  F A R A D  È  Q U I N D I  D I  O F F R I R E  A L  M E R C A T O 

U N  P R O D O T T O  T E C N O L O G I C A M E N T E  A L L’ A V A N G U A R D I A , 

C H E  P E R M E T T A  D I  P R O P O R R E  U N A  Q U A L I T À  T A L E  D A  P O T E R  G A R A N T I R E 

A  V I T A  L A  M A G G I O R  P A R T E  D E I  P R O D O T T I .



1514

STANDARD BOLTS |  NUTS

Farad manufactures standard wheel bolts 
(10.9 class steel)  and wheel nuts (10 class 
steel)  which can be used as spare par ts or for 
f ixing wheels (even if  spacers are used). 
The standard nuts and bolts are cold forged 
and are available with the si lver zinc nickel 
coating + sealer or with special  coatings on 
demand. We can supply drawings 
and develop par ts to match your exact 
requirements.

• 	 Produced with the OEM technolog y, 
process and controls 

• 	 Thread made af ter heat treatment 

• 	 Sealing treatment guarantees better 
screwing and unscrewing 

•	 Available for all  vehicles 

• 	 Black coat resistant to acid wheels 
cleaner 

• 	 Bolt ’s body class resistance 10.9  
and nut ’s body class resistance 10

B U L L O N I  |  D A D I  P E R  R U O T E

P e r  c o m p l e t a r e  l a  n o s t r a  o f f e r t a 
a i  c l i e n t i ,  d i s p o n i a m o  d i  u n a  s e r i e 
d i  b u l l o n i  c l a s s e  1 0 . 9  e  d i  d a d i  c l a s s e  1 0 
c h e  p o s s o n o  e s s e r e  u t i l i z z a t i  s i a  c o m e  r i c a m b i , 
s i a  p e r  f i s s a r e  r u o t e   n o n  o r i g i n a l i , 
a n c h e  c o n  d i s t a n z i a l i .  I n t e r a m e n t e  p r o d o t t i 
c o n  t e c n o l o g i a  s t a m p a g g i o  a  f r e d d o , 
q u e s t i  p r o d o t t i  s o n o  d i s p o n i b i l i  z i n c a t i 
b i a n c h i  c o n  s i g i l l a n t e  o ,  s e  r i c h i e s t o 
d a l  c l i e n t e ,  a n c h e  c o n  a l t r i  r i v e s t i m e n t i .
S u  r i c h i e s t a ,  s i  e s e g u o n o  t i p i  s p e c i a l i 
a  d i s e g n o .

• 	 P r o d o t t i  c o n  t e c n o l o g i a ,  p r o c e s s o  
e  c o n t r o l l i  O E M 

• 	 F i l e t t o  e s e g u i t o  d o p o  b o n i f i c a 

• 	 U t i l i z z o  d i  s i g i l l a t u r a  p e r  u n a  m i g l i o r e 
g a r a n z i a  d i  a v v i t a m e n t o  e  s v i t a m e n t o 

• 	 D i s p o n i b i l i  p e r  t u t t i  i  t i p i  d i  v e t t u r a 

• 	 R i v e s t i m e n t o  n e r o  r e s i s t e n t e  a n c h e 
r e s i s t e n t e  a i  d e t e r g e n t i  a  b a s e  a c i d a  
p e r  l a v a g g i o  r u o t e 

• 	 B u l l o n i  c l a s s e  r e s i s t e n z a  1 0 . 9  
&  d a d i  c l a s s e  d i  r e s i s t e n z a  1 0



REF. HEX. M L R
LG13/S 17 M14x1,5 27 12
LG11/S 17 M14x1,5 35 12
LG12/S 17 M14x1,5 36,5 12

LG/S 17 M14x1,5 38 12
LG1/S 17 M14x1,5 40 12
LG8/S 17 M14x1,5 43 12
LG2/S 17 M14x1,5 45 12
LG9/S 17 M14x1,5 48 12
LG3/S 17 M14x1,5 50 12
LG4/S 17 M14x1,5 52 12
LG5/S 17 M14x1,5 56 12
LG7/S 17 M14x1,5 60 12

LG10/S 17 M14x1,5 63 12
SB53/S 17 M14X1,5 24 13
SB95/S 17 M14X1,5 26 13

ZAB54/S 17 M14X1,5 28 13
SB55/S 17 M14X1,5 31 13
SB59/S 17 M14X1,5 33 13
SB56/S 17 M14X1,5 35 13

Z8B50/S 17 M14X1,5 37 13
SB60/S 17 M14X1,5 38 13
Z3B57/S 17 M14X1,5 40 13
Z9B51/S 17 M14X1,5 43 13
SB93/S 17 M14X1,5 45 13
SB94/S 17 M14X1,5 47 13
B88/S 17 M14X1,5 50 13
AL/S 19 M14X1,5 19 13

AL1/S 19 M14X1,5 25 13
AL3/S 19 M14X1,5 34 13

SZAMC/S 17 M14X1,5 27 14
SZAM/S 17 M14X1,5 28 14
SZM/S 17 M14X1,5 31 14

SZ1MC/S 17 M14X1,5 33 14
SZ1M/S 17 M14X1,5 35 14
SZ2M/S 17 M14X1,5 37 14
SZ3M/S 17 M14X1,5 40 14

SZ13M/S 17 M14X1,5 42 14
SZ4M/S 17 M14X1,5 43 14
SZ5M/S 17 M14X1,5 45 14
SZ6M/S 17 M14X1,5 47 14

SZ7MC/S 17 M14X1,5 48 14
SZ7M/S 17 M14X1,5 50 14
SZ8M/S 17 M14X1,5 55 14

SZ11M/S 17 M14X1,5 57 14
SZ9M/S 17 M14X1,5 60 14

SZ10MC/S 17 M14X1,5 63 14
SZ10M/S 17 M14X1,5 65 14
SZ12M/S 17 M14X1,5 68 14

AL3B96/S 19 M14X1,5 34 14
AL4B97/S 19 M14X1,5 47 14

SZN1/S 17 M14X1,25 33 14
SZN2/S 17 M14X1,25 40 14
SZN3/S 17 M14X1,25 43 14
SZN4/S 17 M14X1,25 48 14
SZN5/S 17 M14X1,25 50 14
SZN6/S 17 M14X1,25 51 14
SZN7/S 17 M14X1,25 53 14

ZAB02/S 17 M15X1,25 28 14
ZAB01/S 17 M15X1,25 32 14
ZAB99/S 17 M15X1,25 44 14

ZK1/S 17 M14X1,25 31 13
ZK2/S 17 M14X1,25 42 13
ZK3/S 17 M14X1,25 46 13
ZK4/S 17 M14X1,25 50 13

SZ99M/S 17 M15X1,25 32 13
LB41/S 17 M12X1,5 20 12

L2B42/S 17 M12X1,5 24 12
L1B43/S 17 M12X1,5 25 12
MB44/S 17 M12X1,5 28 12

SG1B46/S 17 M12X1,5 35 12
LB47/S 17 M12X1,5 40 12

HB475/S 17 M12X1,5 43 12
SG2B48/S 17 M12X1,5 45 12
HB485/S 17 M12X1,5 47 12

B49/S 17 M12X1,5 50 12
HB50/S 17 M12X1,5 52 12
HB51/S 17 M12X1,5 55 12
HB52/S 17 M12X1,5 60 12
HB53/S 17 M12X1,5 65 12
SB42/S 17 M12X1,5 23 13
SB41/S 17 M12X1,5 24 13
SB43/S 17 M12X1,5 26 13
SB44/S 17 M12X1,5 28 13
SB45/S 17 M12X1,5 30 13
SB46/S 17 M12X1,5 35 13
SB47/S 17 M12X1,5 40 13
SB48/S 17 M12X1,5 45 13
SB49/S 17 M12X1,5 48 13
SB50/S 17 M12X1,5 50 13
SB51/S 17 M12X1,5 55 13
SB52/S 17 M12X1,5 60 13
B25/S 19 M12X1,5 32 13
ZZ6/S 17 M12X1,5 26 14
ZZ1/S 17 M12X1,5 31 14
ZZ2/S 17 M12X1,5 38 14
ZZ3/S 17 M12X1,5 41 14
ZZ4/S 17 M12X1,5 46 14
ZZ5/S 17 M12X1,5 51 14

RADIUS BOLT 
BULLONE RAGGIATO

REF. HEX. M L R

WP20/S 17 M14X1,5 29 13

WP21/S 17 M14X1,5 32 13

WP22/S 17 M14X1,5 36 13

WP23/S 17 M14X1,5 39 13

WP24/S 17 M14X1,5 42 13

WP26/S 17 M14X1,5 45 13

WP25/S 17 M14X1,5 48 13

BPP12/S 17 M14X1,5 30 14

BPP6/S 17 M14X1,5 30 14

BPP5/S 17 M14X1,5 32 14

BPP4/S 17 M14X1,5 35 14

BPP8/S 17 M14X1,5 38 14

BPP9/S 17 M14X1,5 40 14

BPP1/S 17 M14X1,5 42 14

BPP2/S 17 M14X1,5 45 14

BPP7/S 17 M14X1,5 48 14

BPP3/S 17 M14X1,5 50 14

BPP11/S 17 M14X1,5 55 14

BPP40/S 17 M14X1,5 60 14

BPP28/S 19 M14X1,5 26 14

BPP15/S 19 M14X1,5 29 14

BPP18/S 19 M14X1,5 34 14

BPP14/S 19 M14X1,5 36 14

BPP21/S 19 M14X1,5 39 14

BPP20/S 19 M14X1,5 42 14

BPP31/S 19 M14X1,5 43 14

BPP23/S 19 M14X1,5 45 14

BPP29/S 19 M14X1,5 46 14

BPP22/S 19 M14X1,5 48 14

BPP16/S 19 M14X1,5 51 14

BPP17/S 19 M14X1,5 54 14

BPP30/S 19 M14X1,5 56 14

BPP19/S 19 M14X1,5 59 14

BPP28VW/S 19 M14X1,5 26 14

BPP15VW/S 19 M14X1,5 29 14

BPP18VW/S 19 M14X1,5 34 14

BPP14VW/S 19 M14X1,5 36 14

BPP21VW/S 19 M14X1,5 39 14

BPP20VW/S 19 M14X1,5 42 14

BPP31VW/S 19 M14X1,5 43 14

BPP23VW/S 19 M14X1,5 45 14

BPP29VW/S 19 M14X1,5 46 14

BPP22VW/S 19 M14X1,5 48 14

BPP16VW/S 19 M14X1,5 51 14

BPP17VW/S 19 M14X1,5 54 14

BPP30VW/S 19 M14X1,5 56 14

BPP19VW/S 19 M14X1,5 59 14

PM1/S 17 M15X1,25 44 14

PM2/S 17 M15X1,25 47 14

PM3/S 17 M15X1,25 49 14

PM4/S 17 M15X1,25 54 14

PM5/S 17 M15X1,25 57 14

PM6/S 17 M15X1,25 59 14

PM7/S 17 M15X1,25 62 14

PM8/S 17 M15X1,25 64 14

PM9/S 17 M15X1,25 70 14

BSD1/S 19 M16x1,5 33 14

BOLT WITH SPHERIC WASHER 
BULLONE CON RONDELLA SFERICA

REF. HEX. M L A

291A/S 17 M12X1,5 38 55

BH4/S 17 M12X1,5 43 60

BH5/S 17 M12X1,5 53 70

BH6/S 17 M12X1,25 38 55

BH7/S 17 M12X1,25 53 70

BH10/S 17 M12X1,25 56 73

BH8/S 17 M14X1,5 38 55

BH1/S 17 M14X1,5 43 60

BH2/S 17 M14X1,5 48 65

BH3/S 17 M14X1,5 53 70

BH9/S 17 M14X1,5 58 75

FLAT BOLT
BULLONE PIATTO

REF. HEX. M ø L A

CP1/S 17 M12X1,25 17 36 57

CP2/S 17 M12X1,25 17 41 62

CP3/S 17 M12X1,25 17 46 67

CP4/S 17 M12X1,25 17 51 72

CP5/S 17 M12X1,25 17 56 77

FLAT BOLT WITH WASHER 
BULLONE PIATTO CON RONDELLA

REF. HEX. M L
BR57/S 17 M12X1,5 25
BR23/S 17 M12X1,5 29
BR24/S 17 M12X1,5 31
BR25/S 17 M12X1,5 34
BR26/S 17 M12X1,5 36
BR27/S 17 M12X1,5 39
BR21/S 17 M12X1,5 41
BR22/S 17 M12X1,5 44
BR20/S 17 M12X1,5 46
BR5/S 19 M12X1,5 25

BR67/S 17 M14X1,5 27
BR6/S 19 M14X1,5 27

BPH1/S 19 M14X1,5 33
BPH2/S 19 M14X1,5 37
BPH6/S 19 M14X1,5 40
BPH3/S 19 M14X1,5 43
BPH4/S 19 M14X1,5 49
BPH5/S 19 M14X1,5 53
BF2/S 24 M14X1,5 32

VV11/S 19 M14X1,5 30,5
VV12/S 19 M14X1,5 35,5
VV13/S 19 M14X1,5 40,5
VV14/S 19 M14X1,5 42,5
VV15/S 19 M14X1,5 45,5
VV16/S 19 M14X1,5 48,5
VV17/S 19 M14X1,5 50,5
BF3/S 24 M16x1,5 35

BR10/S 19 M12X1,25 28
BR9/S 19 M12X1,25 36

NWR1/S 17 M14X1,25 25
NWR2/S 17 M14X1,25 28
NWR3/S 17 M14X1,25 31
NWR4/S 17 M14X1,25 33
NWR5/S 17 M14X1,25 39
NWR6/S 17 M14X1,25 41
NWR7/S 17 M14X1,25 43
NWR8/S 17 M14X1,25 46
NWR9/S 17 M14X1,25 48

NWR10/S 17 M14X1,25 50
NWR11/S 17 M14X1,25 53

BCD1/S 19 M16x1,5 33

BOLT 60° WITH WASHER 
BULLONE CON RONDELLA 60°

REF. HEX. M F L
D6/S 17 M12X1,5 27 33

DE57/S 19 M12X1,5 25 32
HAD1/S 19 M12X1,5 24 30
HAF/S 19 M12X1,5 26 32
HD2/S 19 M12X1,5 27 33
DE46/S 19 M12x1,5 35 41
H1D4/S 21 M12X1,5 27 33
DE58/S 19 M12X1,25 25 30

RA2D15/S 17 M12X1,25 27 33
RD12/S 19 M12X1,25 27 33
DE47/S 19 M12x1,25 35 41

R1D14/S 21 M12X1,25 27 33
DE56/S 19 M14X1,5 25 30

AD/S 19 M14x1,5 27 33
DE45/S 19 M14x1,5 35 41
DE48/S 19 M14x1,5 50 56
DE63/S 21 M14X1,5 30 35
DE64/S 21 M14X1,5 27 35
AD7T/S 21 M14X1,5 29 37
DE50/S 22 M14x1,5 32 37

AE/S 19 1/2" 27 33
RT1/S 17 M10X1,25 24 30
RT4/S 17 M10X1,25 28 33

NUT 60° 
DADO 60°

REF. HEX. M F L

T2DA1/S 19 M12X1,5 26 31

T3DA2/S 21 M14X1,5 26 31

NUT 60° WITH WASHER 
DADO 60°  CON RONDELLA

REF. HEX. M F L R
AC1/S 19 M12X1,5 21 25 12
AC3/S 19 M12X1,5 22 28 12
D42/S 19 M14X1,5 27 32 14
D43/S 19 M14X1,5 31 36 14

RADIUS NUT 
DADO RAGGIATO

CONICAL NUT WITH FLAT WASHER 
DADO CONICO CON RONDELLA PIATTA

REF. HEX. M ø L F A
382/S 21 M12X1,5 18,5 12 34 38
482/S 21 M12X1,5 18,5 12 43 47
383/S 21 M12x1,25 18,5 12 34 38

AG5AF/S 22 M14x1,5 22 20 35 45

RADIUS NUT OPEN 
DADO RAGGIATO PASSANTE

REF. HEX. M L R
AC2/S 19 M12X1,5 18 12

AC1D22/S 19 M12X1,5 30 12
AC/S 19 M12X1,25 30 12

D21/S 17 M12x1,5 30 12
D23/S 17 M12x1,5 22 13
SEAT/S 19 M14x1,5 45 13

V/S 19 M14x1,5 20 14
VA/S 19 M14x1,5 22 13

REF. HEX. M ø L F A
TL1/S 19 M12X1,5 14,7 5 25 34
TL2/S 19 M12X1,5 17,3 8 27 36
TL3/S 19 M12X1,5 14,7 7 27 36

TL13/S 19 M12X1,25 14,7 7 27 36
TL14/S 19 M14X1,5 16,7 5 27 34

CONICAL NUT + CYLINDRICAL 60° 
DADO CONICO + CILINDRO

SHORT HEAD BOLT 
BULLONE A TESTA CORTA

REF. HEX. M L H
C1C/S 17 M14X1,5 21 7
B63P/S 17 M14X1,5 25 11
B65P/S 17 M14X1,5 30 11
NNC/S 17 M14X1,25 25 9

NN1C/S 17 M14X1,25 25 7
JJ1C/S 17 M12X1,75 25 7
K1C/S 17 M12X1,25 24 7
I2C/S 17 M12X1,5 21 7

CEB1/S 17 M15X1,25 25 7
CEB2/S 17 M15X1,25 28 7
CEB3/S 17 M15X1,25 30 7

REF. HEX. M L
CC1/S 17 M14X1,5 25

C3B64/S 17 M14X1,5 27
C2C/S 17 M14X1,5 28
C2/S 17 M14X1,5 30

C2L/S 17 M14X1,5 33
B66/S 17 M14X1,5 35
C4C/S 17 M14X1,5 37
B66L/S 17 M14X1,5 38

C4/S 17 M14X1,5 40
C6C/S 17 M14X1,5 42
C6/S 17 M14X1,5 43
C5/S 17 M14X1,5 45
C7/S 17 M14X1,5 47

C7L/S 17 M14X1,5 48
B67/S 17 M14X1,5 50
C8C/S 17 M14X1,5 53
C8/S 17 M14X1,5 55
C9/S 17 M14X1,5 60

C12/S 17 M14X1,5 64
W3/S 19 M14X1,5 28
BF4/S 21 M14X1,5 40
B99/S 19 M16X1,5 32

B100/S 19 M16X1,5 40
BF5/S 21 M16X1,5 40
NBN/S 17 M14X1,25 26

N1BN1/S 17 M14X1,25 28
N9BN9/S 17 M14X1,25 31

N13BN13/S 17 M14X1,25 33
N2BN2/S 17 M14X1,25 35

N12BN12/S 17 M14X1,25 38
N3BN3/S 17 M14X1,25 40
N4BN4/S 17 M14X1,25 43

N10BN10/S 17 M14X1,25 45
N5BN5/S 17 M14X1,25 48
N6BN6/S 17 M14X1,25 50
N7BN7/S 17 M14X1,25 55
N8BN8/S 17 M14X1,25 60
PMM3C/S 17 M15X1,25 25
PMM1C/S 17 M15X1,25 28
PMM5C/S 17 M15X1,25 30
C9B99/S 17 M15X1,25 32
PMM2/S 17 M15X1,25 33

JJ1/S 17 M12X1,75 25
JJ2/S 17 M12X1,75 30
JJ3/S 17 M12X1,75 35
JJ4/S 17 M12X1,75 40
JJ5/S 17 M12X1,75 45
JJ6/S 17 M12X1,75 50

CEC/S 17 M10X1,25 17
A1BV2/S 17 M12X1,25 22

K1/S 17 M12X1,25 24
KBV3/S 17 M12X1,25 26

SH6BV10/S 17 M12X1,25 28
E4BV5/S 17 M12X1,25 30

E5/S 17 M12X1,25 33
E3BV6/S 17 M12X1,25 35

SH9/S 17 M12X1,25 38
SH3BV7/S 17 M12X1,25 40

SH10/S 17 M12X1,25 42
SH4BV8/S 17 M12X1,25 45
SH5BV9/S 17 M12X1,25 50

SH7/S 17 M12X1,25 55
SH8/S 17 M12X1,25 60

GB02/S 19 M12X1,25 22
AB03/S 19 M12X1,25 25
SH11/S 19 M12X1,25 28
E1B05/S 19 M12X1,25 31
EB06/S 19 M12X1,25 35

SHB07/S 19 M12X1,25 40
SH1B08/S 19 M12X1,25 45
SH2B09/S 19 M12X1,25 50

I2B11/S 17 M12X1,5 20
I3B12/S 17 M12X1,5 23
IB13/S 17 M12X1,5 25
SA8/S 17 M12X1,5 26

I4/S 17 M12X1,5 28
I4B/S 17 M12X1,5 29

I1B14/S 17 M12X1,5 30
I6/S 17 M12X1,5 33

SA1B16/S 17 M12X1,5 35
I7/S 17 M12X1,5 38

SAB17/S 17 M12X1,5 40
SA6/S 17 M12X1,5 43

SA2B18/S 17 M12X1,5 45
SA7B/S 17 M12X1,5 47
SA7/S 17 M12X1,5 48

SA3B20/S 17 M12X1,5 50
SA4/S 17 M12X1,5 55
SA5/S 17 M12X1,5 60

PB23/S 19 M12X1,5 25
P2B24/S 19 M12X1,5 30
SFB27/S 19 M12X1,5 40

SF3/S 19 M12X1,5 45
SF2B29/S 19 M12X1,5 50

BOLT 60°
BULLONE 60°

REF. HEX. M L
DE60/S 17 M10X1,25 19
DE61/S 17 M10X1,5 19
DE31/S 17 M12X1,5 17
DE40/S 17 M12X1,5 23
DE29/S 19 M12X1,5 15
DE30/S 19 M12X1,5 18
D37/S 19 M12X1,5 21

DE65/S 19 M12X1,5 23
DE41/S 19 M12X1,5 25
SEAT4/S 19 M12X1,5 35
SEAT3/S 19 M12X1,5 45

D27/S 21 M12X1,5 21
DE59/S 21 M12X1,5 25
DE32/S 17 M12X1,25 17
D47/S 17 M12X1,25 21

DE39/S 19 M12X1,25 15
DE52/S 19 M12X1,25 16
D57/S 19 M12X1,25 21

DE42/S 19 M12X1,25 25
D17/S 21 M12X1,25 21

SEAT31/S 19 M12X1,25 45
SEAT2/S 19 M14x1,5 45
DE33/S 19 M14x1,5 18
DE25/S 19 M14X1,5 15
DE36/S 19 M14x1,5 23
DE55/S 19 M14x1,5 24
DE67/S 21 M14x1,5 25
DE34/S 19 1/2" UNF 19
DE35/S 19 1/2" UNF 15
DE43/S 19 7/16" UNF 17
DG1/S 19 M14x1,25 25
DG2/S 17 M14x1,25 23
DE28/S 19 M14X2 18
DE27/S 19 M14X2 21
DE24/S 24 M16X1,5 26
DE49/S 24 M16X1,5 17

NUT 60°  OPEN 
DADO 60° FILETTO PASSANTE



BOLTS AND NUTS THAT MEET THE OEM SPECIFICATIONS OF THE AUTOMOTIVE PRODUCTS.

B U L L O N I  E  D A D I  C H E  R I S P O N D O N O  A L L E  S P E C I F I C H E  D E L L E  C A S E  A U T O M O B I L I S T I C H E .

REF. HEX. M L

A1C1/S 17 M12X1,25 22

EHE/S 19 M14X1,5 30

REF. HEX. M L

A3C3/S 17 M12X1,25 22

N3Z/S 17 M14X1,25 27

BOLT 60°
BULLONE 60°

(stainless steel cap)

(Black version)

(Black version)

REF. HEX. M L R

ZJ3/S 19 M14X1,5 52 14

REF. HEX. M L R

WP14C/S 17 M14X1,5 27 13

PP12/S 17 M14X1,5 30 14

BPP50/S 19 M14X1,5 36 14

REF. HEX. M F L

DEF2/S 19 M12x1,5 30 32

DEF3/S 21 M14x1,5 36 38

DEF1/S 21 M14x1,5 40 42

REF. HEX. M L

DE67/S 21 M14x1,5 25

 SPHERICAL BOLT
BULLONE SFERICO

 BOLT  WITH SPHERIC WASHER
BULLONE CON RONDELLA SFERICA

REF. HEX. M L

WP15/S 17 M14x1,5 26

BOLT 60° WITH WASHER
BULLONE CON RONDELLA 60°

(stainless steel cap)

REF. HEX. M ø L F A

AG5/S 22 M14x1,5 22,5 19,5 45 46

REF. HEX. M ø L F A

AG7L/S 22 M14x1,5 22,5 19,5 25 46

CONICAL NUT WITH FLAT WASHER
DADO CONICO CON RONDELLA PIATTA

(stainless steel cap)

NUT 60°
DADO 60°

(stainless steel cap)

NUT 60°
DADO 60°

(Original plating)



2120

The Gala xy Lock is the latest addition to 
Farad’s range. This product is Thatcham 
approved and used by the most impor tant 
car manufacturers in the world. 
This endorsement demonstrates 
the Gala xylock’s quality and security. 
The hardened head withstands attack 
and the rotating collar cannot be cut . 
The quality of the design and key 
engagement means that the Gala xy Lock 
can withstand up to 400 Nm of torque. 

• 	 The combination’s design prevents  
the extraction with tools available  
on the market 

• 	 The key can be easily inser ted  
and taken out of the lock thanks 
to its automatic centering system 

•	 The wheel lock key ’s hexagon permits 
the use of the key given by the car 
manufacturer 

• 	 Strong ROTARY NUT doesn’t allow other 
tools to unscrew it 

• 	 Head cut resistant  
and per foration-proof 

• 	 Produced with the OEM technolog y, 
process and controls 

• 	 The bolt ’s body class resistance is 10.9 
and the nut ’s body class resistance is 10 

•	 Can withstand up to 400 nm  
of torque 

•	 Thread made af ter heat treatment 

• 	 Available for all  kinds of cars 

• 	 Possibil ity to obtain a new key  
in case of loss

L’ u l t i m o  b u l l o n e  a n t i f u r t o  p r o d o t t o 
d a l  g r u p p o  F a r a d ;  o m o l o g a t o  d a l l e 
p i ù  i m p o r t a n t i  c a s e  a u t o m o b i l i s t i c h e 
e d  a p p r o v a t o  d a l l ’ i s t i t u t o  i n g l e s e  T h a t c h a m , 
è  s i c u r a m e n t e  l ’ a n t i f u r t o  p i ù  s i c u r o  e d 
a f f i d a b i l e  d e l l a  g a m m a ,  g r a z i e  a l l a  s u a 
r e s i s t e n z a  a l l a  t o r s i o n e  a d  o l t r e  4 0 0 N m , 
a l l a  r o n d e l l a  a n t i t a g l i o  e d  a l l a  t e s t a 
d e l  b u l l o n e - d a d o  i m p e r f o r a b i l e .

• 	 I l  d i s e g n o  d e l l a  c o m b i n a z i o n e  i m p e d i s c e 
l ’ e s t r a z i o n e  c o n  u t e n s i l i  d i s p o n i b i l i  s u l 
m e r c a t o 

• 	 C h i a v e  a u t o c e n t r a n t e  p e r  u n  f a c i l e 
m o n t a g g i o  e  s m o n t a g g i o 

• 	 L’ e s a g o n o  d e l l a  c h i a v e  a n t i f u r t o  
p e r m e t t e  l ’ u t i l i z z o  d e l l a  c h i a v e  
i n  d o t a z i o n e  c o n  l a  v e t t u r a 

• 	 R o b u s t o  d a d o  r o t a n t e  a n t i  t a g l i o  c h e 
i m p e d i s c e  l o  s v i t a m e n t o  c o n  u t e n s i l i 

• 	 T e s t a  a  p r o v a  d i  p e r f o r a z i o n e  e  t a g l i o 

• 	 P r o d o t t i  c o n  t e c n o l o g i a ,  p r o c e s s o  e 
c o n t r o l l i  O E M 

• 	 C o r p o  i n  c l a s s e  d i  r e s i s t e n z a  1 0 . 9  ( b u l l o n i ) 
e  c l a s s e  d i  r e s i s t e n z a  1 0  ( d a d i ) 

• 	 R e s i s t e n z a  a l l a  t o r s i o n e  o l t r e  
a  4 0 0 n m 

• 	 F i l e t t a t u r a  e s e g u i t a  d o p o  b o n i f i c a 

• 	 D i s p o n i b i l e  p e r  t u t t i  i  t i p i  d i  v e t t u r a 

• 	 P o s s i b i l i t à  d i  o t t e n e r e  l a  c h i a v e  
d i  r i c a m b i o  i n  c a s o  d i  p e r d i t a

R O T A R Y  H E X A G O N 
E S A G O N O  R O T A N T E



REF HEX. M L

C1C/M 17 M14X1,5 22

C10/M 17 M14X1,5 25

BD1/M 22 M14x1,5 51

N1/M 17 M14x1,25 28

A1C/M 17 M12X1,25 22

A2C/M 19 M12X1,25 22

E1/M 19 M12X1,25 31

I3/M 17 M12X1,5 24

I5/M 17 M12X1,5 25

I/M 17 M12X1,5 26

I4/M 17 M12X1,5 28

I1/M 17 M12X1,5 30

I7/M 17 M12X1,5 38

SA/M 17 M12X1,5 40

SA2/M 17 M12X1,5 45

BOLT 60°
BULLONE 60°

REF. HEX. M L R

SL10/M 17 M12X1,5 30 12

ZA/M 17 M14X1,5 27 13

Z4/M 17 M14X1,5 45 14

GW/M 19 M14X1,5 31 13

L2/M 17 M12X1,5 24 13

Z9/M 17 M15x1,25 32 14

L9/M 17 M15x1,25 44 14

RADIUS BOLT 
BULLONE RAGGIATO

REF. HEX. M L R

WP14/M 17 M14X1,5 27 13

PP12/M 17 M14X1,5 30 14

VV6/M 17 M14X1,5 33 14

PM1AF/M 17 M15x1,25 44 14

BOLT WITH SPHERIC WASHER 
BULLONE CON RONDELLA SFERICA

REF HEX. M ø L A

BE8/M 17 M12X1,25 17 36 57

FLAT BOLT WITH DIAMETER 
BULLONE PIATTO CON DIAMETRO

REF HEX. M L

VV5/M 17 M14X1,5 25

VV3/M 19 M14X1,5 34

KK1/M 17 M12x1,5 24

KK2/M 17 M12x1,5 25

KK3/M 17 M12x1,5 26

KK4/M 17 M12x1,5 28

KK5/M 17 M12x1,5 30

KK6/M 17 M12x1,5 38

KK7/M 17 M12x1,5 40

KK8/M 17 M12x1,5 45

BOLT 60° WITH WASHER 
BULLONE CON RONDELLA 60°

REF HEX. M F L

H/M 19 M12X1,5 25 30

DLF2/M 19 M12X1,5 27 31

H1/M 21 M12X1,5 25 30

HA7/M 19 M12X1,5 32 37

HA13/M 17 M12X1,5 27 32

HA3/M 21 M12X1,5 27 32

HA5/M 21 M12X1,5 32 37

R/M 19 M12X1,25 25 30

DNL/M 21 M12X1,25 25 30

R1/M 21 M12X1,25 25 30

HA10/M 21 M14X2 32 37

HA6/M 19 M14X1,5 32 37

HA8/M 22 M14X1,5 32 37

DCH7/M 21 M14X1,5 36 41

HA4/M 21 M14X1,5 32 37

AD/M 22 M14X1,5 34 39

DCH6/M 22 M14X1,5 36 41

HA9/M 22 M14X1,5 37 42

NUT 60°  CLOSED 
DADO 60° CHIUSO

REF HEX. M F L

T2/M 19 M12X1,5 28 33

NUT 60° WITH WASHER 
DADO 60° CON RONDELLA

REF. HEX. M F L R

AC1C/M 19 M12X1,5 23 26 12

AC2C/M 17 M12X1,5 23 26 12

RADIUS NUT 
DADO RAGGIATO

REF. HEX. M ø L F A

282AF/M 19 M12X1,5 18,5 8 33 39

382/M 21 M12X1,5 18,5 12 30 35

482/M 21 M12X1,5 18,5 12 38 43

AG5AF/M 22 M14X1,5 22 19 23 45

CONICAL NUT WITH FLAT WASHER 
DADO CONICO CON RONDELLA PIATTA



2524

The StarLock wheel lock is Thatcham 
approved and used by many of the largest 
car manufacturers in the world. 
These endorsements demonstrate 
the StarLock’s quality and security. 
The hardened head withstands any attack  
and the rotar y r ing cannot be cut . 
The quality of the design and key engagement 
means that the StarLock can with stand up 
to 400 Nm of torque. 

• 	 The combination’s design prevents  
the extraction with tools available  
on the market 

• 	 The key can be easily inser ted  
and taken out of the lock thanks 
to its automatic centering system 

•	 The wheel lock key ’s hexagon permits 
the use of the key given by the car 
manufacturer 

• 	 Strong rotating r ing which doesn’t allow 
other tools to unscrew it 

• 	 Head cut resistant  
and per foration-proof 

• 	 Produced with the OEM technolog y, 
process and controls 

• 	 The bolt ’s body class resistance is 10.9 
and the nut ’s body class resistance is 10 

•	 Can withstand up to 400 nm of torque 
Thread made af ter heat treatment 

• 	 Available for all  kinds of cars 

• 	 Possibil ity to obtain a new key  
in case of loss

O m o l o g a t o  d a l l e  p i ù  i m p o r t a n t i  c a s e 
a u t o m o b i l i s t i c h e  e d  a p p r o v a t o  d a l l ’ i s t i t u t o 
i n g l e s e  T h a t c h a m ,  è  s i c u r a m e n t e  l ’ a n t i f u r t o 
p i ù  s i c u r o  e d  a f f i d a b i l e  d e l l a  g a m m a , 
g r a z i e  a l l a  s u a  r e s i s t e n z a  a l l a  t o r s i o n e 
a d  o l t r e  4 0 0 N m ,  a l l a  r o n d e l l a  a n t i t a g l i o 
e d  a l l a  t e s t a  d e l  b u l l o n e - d a d o  i m p e r f o r a b i l e .

• 	 I l  d i s e g n o  d e l l a  c o m b i n a z i o n e  i m p e d i s c e 
l ’ e s t r a z i o n e c o n  u t e n s i l i  d i s p o n i b i l i  s u l 
m e r c a t o 

• 	 C h i a v e  a u t o c e n t r a n t e  p e r  u n  f a c i l e 
m o n t a g g i o  e  s m o n t a g g i o 

• 	 L’ e s a g o n o  d e l l a  c h i a v e  a n t i f u r t o  p e r m e t t e 
l ’ u t i l i z z o  d e l l a  c h i a v e  i n  d o t a z i o n e  c o n  l a 
v e t t u r a 

• 	 R o b u s t o  a n e l l o  r o t a n t e  a n t i  t a g l i o  c h e 
i m p e d i s c e  l o  s v i t a m e n t o  c o n  u t e n s i l I 

• 	 T e s t a  a  p r o v a  d i  p e r f o r a z i o n e  e  t a g l i o 

• 	 P r o d o t t i  c o n  t e c n o l o g i a ,  p r o c e s s o  
e  c o n t r o l l i  O E M 

• 	 C o r p o  i n  c l a s s e  d i  r e s i s t e n z a  1 0 . 9  ( b u l l o n i ) 
e  c l a s s e  d i  r e s i s t e n z a  1 0  ( d a d i ) 

• 	 R e s i s t e n z a  a l l a  t o r s i o n e  o l t r e  a  4 0 0 n m 

• 	 F i l e t t a t u r a  e s e g u i t a  d o p o  b o n i f i c a 
D i s p o n i b i l e  p e r  t u t t i  i  t i p i  d i  v e t t u r a 

• 	 P o s s i b i l i t à  d i  o t t e n e r e  l a  c h i a v e  
d i  r i c a m b i o  i n  c a s o  d i  p e r d i t a

R O T A R Y  R I N G 
R O N D E L L A  R O T A N T E



REF HEX. M L
C1C/E 17 M14X1,5 23
C1/E 17 M14X1,5 26

C2C/E 17 M14X1,5 28
C2/E 17 M14X1,5 30
C/E 17 M14X1,5 31

C3C/E 17 M14X1,5 33
C3/E 17 M14X1,5 35

C4C/E 17 M14X1,5 38
C4/E 17 M14X1,5 40

C5C/E 17 M14X1,5 43
C5/E 17 M14X1,5 45

C6C/E 17 M14X1,5 47
C6/E 17 M14X1,5 50
C7/E 17 M14X1,5 55
C8/E 17 M14X1,5 60
C9/E 17 M14X1,5 70
W2/E 19 M14X1,5 26
W3/E 19 M14X1,5 30
W8/E 19 M14X1,5 35

EHE1/E 19 M14X1,5 29
BF4/E 21 M14X1,5 29
BD1/E 22 M14X1,5 35

N/E 17 M14x1,25 25
N1/E 17 M14x1,25 28
N9/E 17 M14x1,25 31
N2/E 17 M14x1,25 33
N3/E 17 M14x1,25 35

N12/E 17 M14x1,25 38
N4/E 17 M14x1,25 40

N10/E 17 M14x1,25 43
N5/E 17 M14x1,25 45

N11/E 17 M14x1,25 48
N6/E 17 M14x1,25 50
N7/E 17 M14x1,25 55
N8/E 17 M14x1,25 60
SN/E 19 M14x1,25 25

SN1/E 19 M14x1,25 28
SN9/E 19 M14x1,25 31
SN2/E 19 M14x1,25 33
SN3/E 19 M14x1,25 35

SN12/E 19 M14x1,25 38
SN4/E 19 M14x1,25 40

SN10/E 19 M14x1,25 43
SN5/E 19 M14x1,25 45

SN11/E 19 M14x1,25 48
SN6/E 19 M14x1,25 50
SN7/E 19 M14x1,25 55
SN8/E 19 M14x1,25 60

BR11/E 19 M16X1,5 33
BD3/E 19 M16X1,5 33
BF5/E 21 M16X1,5 30
BD2/E 22 M16X1,5 35

BD24/E 24 M16X1,5 35
BD9/E 17 M15X1,25 28

J1/E 19 M12X1,75 25
J2C/E 19 M12X1,75 30
A1C/E 17 M12X1,25 22

K/E 17 M12X1,25 25
E5/E 17 M12X1,25 28
E4/E 17 M12X1,25 31
E3/E 17 M12X1,25 35

SH3/E 17 M12X1,25 40
SH4/E 17 M12X1,25 45
SH5/E 17 M12X1,25 50
SH6/E 17 M12X1,25 60
A2C/E 19 M12X1,25 22

A/E 19 M12X1,25 25
SH7/E 19 M12X1,25 28
E1/E 19 M12X1,25 31
E/E 19 M12X1,25 35

SH/E 19 M12X1,25 40
SH1/E 19 M12X1,25 45
SH2/E 19 M12X1,25 50

I2/E 17 M12X1,5 23
I3/E 17 M12X1,5 24
I5/E 17 M12X1,5 25
I/E 17 M12X1,5 26

I4/E 17 M12X1,5 29
I1/E 17 M12X1,5 32

SA1/E 17 M12X1,5 34
I8/E 17 M12X1,5 36
I7/E 17 M12X1,5 38

SA/E 17 M12X1,5 40
SA8/E 17 M12X1,5 43
SA2/E 17 M12X1,5 45
SA3/E 17 M12X1,5 48
SA9/E 17 M12X1,5 50
SA4/E 17 M12X1,5 56
SA5/E 17 M12X1,5 60
SA6/E 17 M12X1,5 70
P1/E 19 M12X1,5 24
P/E 19 M12X1,5 26
SF/E 19 M12X1,5 40

BOLT 60°
BULLONE 60°

REF HEX. M L R

Z/E 17 M14X1,5 25 13
ZA/E 17 M14X1,5 27 13

ZAM/E 17 M14X1,5 27 14
Z1/E 17 M14X1,5 29 13
Z7/E 17 M14X1,5 32 13

Z16/E 17 M14X1,5 33 13
Z2/E 17 M14X1,5 35 13

Z10/E 17 M14X1,5 37 13
Z17/E 17 M14X1,5 38 13
Z11/E 17 M14X1,5 40 13
Z3/E 17 M14X1,5 42 13

Z15/E 17 M14X1,5 45 13
Z4/E 17 M14X1,5 45 14

Z12/E 17 M14X1,5 47 13
Z14/E 17 M14X1,5 50 13
Z5/E 17 M14X1,5 52 13
Z8/E 17 M14X1,5 55 13
Z6/E 17 M14X1,5 60 13
Z9/E 17 M14X1,5 70 13

SZAMC/E 17 M14X1,5 26 14
SZAM/E 17 M14X1,5 28 14
SZM/E 17 M14X1,5 31 14

SZ1MC/E 17 M14X1,5 33 14
SZ1M/E 17 M14X1,5 35 14
SZ2M/E 17 M14X1,5 37 14
SZ3M/E 17 M14X1,5 40 14
SZ4M/E 17 M14X1,5 43 14
SZ5M/E 17 M14X1,5 45 14
SZ6M/E 17 M14X1,5 47 14

SZ7MC/E 17 M14X1,5 48 14
SZ7M/E 17 M14X1,5 50 14

ZJ/E 17 M14X1,5 53 14
SZ8M/E 17 M14X1,5 55 14

SZ11M/E 17 M14X1,5 57 14
SZ9M/E 17 M14X1,5 60 14

SZ10MC/E 17 M14X1,5 63 14
SZ10M/E 17 M14X1,5 65 14
SZ12M/E 17 M14X1,5 68 14

AL/E 19 M14X1,5 25 13
AL1/E 19 M14X1,5 27 13
AL3/E 19 M14X1,5 35 13
AL6/E 19 M14X1,5 52 13
LG/E 17 M14X1,5 38 12

LG1/E 17 M14X1,5 41 12
LG8/E 17 M14X1,5 43 12
LG2/E 17 M14X1,5 45 12
LG9/E 17 M14X1,5 48 12
LG3/E 17 M14X1,5 50 12
LG4/E 17 M14X1,5 52 12
LG5/E 17 M14X1,5 56 12
LG7/E 17 M14X1,5 60 12

LG10/E 17 M14X1,5 63 12
Z99/E 17 M15X1,25 32 14

LG99/E 17 M15X1,25 44 14
L/E 17 M12X1,5 21 12

LS/E 17 M12X1,5 25 12
LS1/E 15 M12X1,5 25 12
SG/E 17 M12X1,5 40 12
SL/E 17 M12X1,5 28 12

SL1/E 17 M12X1,5 35 12
SL2/E 17 M12X1,5 40 12
SL3/E 17 M12X1,5 43 12
SL4/E 17 M12X1,5 45 12
SL5/E 17 M12X1,5 47 12
SL6/E 17 M12X1,5 50 12
SL7/E 17 M12X1,5 52 12
SL8/E 17 M12X1,5 55 12
SL9/E 17 M12X1,5 60 12

SL29/E 19 M12X1,5 40 12
L2/E 17 M12X1,5 24 13

L2B/E 17 M12X1,5 26 13
M/E 17 M12X1,5 28 13

M1/E 17 M12X1,5 31 13
SG1/E 17 M12X1,5 35 13
SG2/E 17 M12X1,5 45 13
SG4/E 17 M12X1,5 50 13
SG5/E 17 M12X1,5 56 13
SG6/E 17 M12X1,5 60 13
SG7/E 17 M12X1,5 70 13

RADIUS BOLT 
BULLONE RAGGIATO

REF HEX. M L R
PP12/E 17 M14X1,5 30 14
BPP5/E 17 M14X1,5 32 14
BPP4/E 17 M14X1,5 35 14
PP147/E 17 M14X1,5 36 14
BPP8/E 17 M14X1,5 38 14
BPP9/E 17 M14X1,5 40 14
BPP1/E 17 M14X1,5 42 14
BPP2/E 17 M14X1,5 45 14
BPP7/E 17 M14X1,5 48 14
BPP3/E 17 M14X1,5 50 14

BPP11/E 17 M14X1,5 55 14
BPP12/E 17 M14X1,5 60 14
PP28/E 19 M14X1,5 26 14
PP13/E 19 M14X1,5 29 14
PP15/E 19 M14X1,5 34 14
PP11/E 19 M14X1,5 35 14
PP14/E 19 M14X1,5 36 14

PP14RD26/E 19 M14X1,5 36 14
PP21/E 19 M14X1,5 37 14
PP16/E 19 M14X1,5 39 14
PP17/E 19 M14X1,5 43 14
PP22/E 19 M14X1,5 45 14
PP29/E 19 M14X1,5 46 14
PP23/E 19 M14X1,5 48 14
PP18/E 19 M14X1,5 50 14
PP24/E 19 M14X1,5 53 14
PP19/E 19 M14X1,5 54 14
PP30/E 19 M14X1,5 56 14
PP20/E 19 M14X1,5 59 14
WP14/E 17 M14X1,5 28 13
WP20/E 17 M14X1,5 29 13
WP21/E 17 M14X1,5 32 13
WP22/E 17 M14X1,5 36 13
WP15/E 17 M14X1,5 38 13
WP23/E 17 M14X1,5 39 13
WP24/E 17 M14X1,5 42 13
WP16/E 17 M14X1,5 43 13
WP26/E 17 M14X1,5 45 13
WP25/E 17 M14X1,5 48 13
WP17/E 17 M14X1,5 50 13
PM1/E 17 M15X1,25 44 14
PM2/E 17 M15X1,25 47 14
PM3/E 17 M15X1,25 49 14
PM4/E 17 M15X1,25 54 14
PM5/E 17 M15X1,25 57 14
PM6/E 17 M15X1,25 59 14
PM7/E 17 M15X1,25 62 14
PM8/E 17 M15X1,25 64 14

BOLT WITH SPHERIC WASHER 
BULLONE CON RONDELLA SFERICA

REF HEX. M ø L A

BE8/E 17 M12X1,25 17 36 55

CP2/E 17 M12X1,25 17 41 60

CP4/E 17 M12X1,25 17 51 70

CP5/E 17 M12X1,25 17 56 75

CP6/E 17 M12X1,25 17 61 80

BB8/E 19 M12X1,25 17 36 55

BD8/E 21 M12X1,25 17 36 55

BC4/E 17 M12X1,5 18,5 33 53

FLAT BOLT WITH DIAMETER 
BULLONE PIATTO CON DIAMETRO

REF HEX. M L A

ZH1/E 17 M12X1,25 35 55

AH1/E 19 M12X1,25 35 55

FLAT BOLT WITH WASHER 
BULLONE PIATTO CON RONDELLA

REF HEX. M L
BR37/E 17 M12X1,5 25
BR7/E 17 M12X1,5 33
BR3/E 19 M12X1,5 25

BR13/E 17 M12X1,25 26
BR47/E 17 M14X1,5 28
BR4/E 19 M14X1,5 28
FKS/E 17 M14X1,5 31
VV1/E 19 M14X1,5 31
BF2/E 24 M14X1,5 32
BF3/E 24 M16x1,5 35

NWR1/E 17 M14X1,25 25
NWR2/E 17 M14X1,25 28
NWR3/E 17 M14X1,25 31
NWR4/E 17 M14X1,25 33
NWR5/E 17 M14X1,25 39
NWR6/E 17 M14X1,25 41
NWR7/E 17 M14X1,25 43
NWR8/E 17 M14X1,25 46
NWR9/E 17 M14X1,25 48

NWR10/E 17 M14X1,25 50
NWR11/E 17 M14X1,25 53

BOLT 60° WITH WASHER 
BULLONE CON RONDELLA 60°

REF HEX. M L

BS/E 17 M12x1,5 28

BS1C/E 17 M12x1,5 33

BS1/E 17 M12x1,5 35

BS2/E 17 M12x1,5 40

BS3/E 17 M12x1,5 44

BP3/E 17 M12x1,25 28

BP1/E 17 M12x1,25 35

BP2/E 17 M12x1,25 40

BP4/E 17 M12x1,25 44

BK/E 17 M14x1,25 28

BK1/E 17 M14x1,25 33

BK2/E 17 M14x1,25 40

BH/E 17 M14x1,5 28

BH1/E 17 M14x1,5 34

BOLT INNER-AXE VARIATION 
BULLONE VARIAZIONE INTERASSE

REF HEX. M L

DS3/E 19 M12X1,5 25

DS27/E 21 M12X1,5 25

DS47/E 17 M12X1,25 25

DS57/E 19 M12X1,25 25

DS17/E 21 M12X1,25 25

DS51/E 21 M14X1,5 25

DST/E 21 M14X1,5 25

DS/E 22 M14X1,5 25

NUT 60° OPEN 
DADO 60° APERTO

REF HEX. M F L

T2/E 19 M12X1,5 21 29

DLF1/E 19 M12X1,5 27 33

DLF3/E 22 M12X1,5 27 33

DLF/E 21 M14X1,5 30 37

NUT 60° WITH WASHER 
DADO 60° CON RONDELLA

REF HEX. M F L

HA2/E 17 M12X1,5 21 30

H2/E 17 M12X1,5 25 34

HA/E 19 M12X1,5 21 30

H/E 19 M12X1,5 25 34

H1/E 21 M12X1,5 25 34

HA1/E 21 M12X1,5 21 30

HM/E 21 M12X1,5 26 37

RA2/E 17 M12X1,25 21 30

R2/E 17 M12X1,25 25 34

RAZS/E 19 M12X1,25 18 23

DNS/E 19 M12X1,25 21 28

RA/E 19 M12X1,25 21 30

DF2/E 19 M12X1,25 28 38

R/E 19 M12X1,25 25 34

DNC/E 21 M12X1,25 20 25

DN/E 21 M12X1,25 19 26

RA1/E 21 M12X1,25 21 30

DNL/E 21 M12X1,25 24 31

R1/E 21 M12X1,25 25 34

S/E 19 7/16"20UNF 21 30

AE/E 19 1/2" UNF 24 34

AE2/E 21 1/2" UNF 24 34

AD/E 19 M14X1,5 25 34

DCH5/E 19 M14X1,5 30 37

DCH4/E 19 M14X1,5 34 41

AD1/E 21 M14X1,5 25 34

DCH3/E 21 M14X1,5 30 37

DCH2/E 22 M14X1,5 34 41

DCH14/E 21 M14X1,5 34 41

AD2/E 19 M14x2 25 34

NUT 60° CLOSED
DADO 60° CHIUSO

REF. HEX. M F L R

AC1/E 19 M12X1,5 22 30 12

AC1C/E 19 M12X1,5 21 27 12

V/E 19 M14X1,5 25 34 14

V1/E 21 M14X1,5 25 34 14

V2/E 22 M14X1,5 25 34 14

RADIUS NUT 
DADO RAGGIATO

REF. HEX. M ø L F A

577/E 19 M12X1,5 15,7 6 25 34

578/E 19 M12X1,25 15,7 6 25 34

T9/E 19 M12X1,25 17,8 12,5 30 42

587/E 21 M12X1,5 15,7 6 25 34

588/E 21 M12X1,25 15,7 6 25 34

CONICAL NUT + CYLINDRICAL 60° 
DADO CONICO + CILINDRICO 60°  

REF. HEX. M ø L F A

462/E 19 M12X1,5 18,5 12 33 44

282L/E 19 M12X1,5 18,5 10 30 37

282/E 21 M12X1,5 18,5 10 24 34

382/E 21 M12X1,5 18,5 12 25 36

482/E 21 M12X1,5 18,5 12 33 44

383/E 21 M12X1,25 20 13 27 38

383/EC 21 M12X1,25 20 13 27 38

AG67/E 17 M14X1,5 22 12 38 48

AG4/E 22 M14X1,5 20 20 32 40

AG5/E 22 M14X1,5 22 19 35 46

AG7/E 22 M14X1,5 22 12 38 48

AG7/E cr 22 M14X1,5 22 12 38 48

AG6/E 21 M14X1,5 22 12 38 48

AG6L/E 21 M14X1,5 20 12 31 43

AG8/E 22 M14X1,5 22 15 31 41

CONICAL NUT WITH FLAT WASHER 
DADO CONICO CON RONDELLA PIATTA



2928

The FlowerLock was specially conceived  
for car manufacturers .  It  of fers excellent 
security for all  al loy and steel wheels 
thanks to the complex combination  
patterns and the heav y-duty rotar y r ing. 

• 	 The combination’s design prevents  
the extraction with tools available  
on the market 

• 	 The wheel lock key ’s hexagon permits 
also the use of the key given by the car 
manufacturer 

• 	 Strong rotating r ing which doesn’t allow 
other tools to unscrew it 
 

• 	 Produced with the OEM technolog y, 
process and controls 

• 	 Bolt ’s body class resistance 10.9  
and nut ’s body class resistance 10 

•	 Thread made af ter heat treatment 

• 	 Possibil ity to obtain a new key in case of 
loss

S t u d i a t o  s p e c i f i c a t a m e n t e  p e r  l e  c a s e 
a u t o m o b i l i s t i c h e ,  F l o w e r L o c k ,  g r a z i e  a l  s u o 
d i s e g n o  a  f o r m a  d i  f i o r e  e d  a  u n a  r o n d e l l a 
p a r t i c o l a r m e n t e  r o b u s t a ,  è  u n  a n t i f u r t o 
e s t r e m a m e n t e  s i c u r o  p e r  q u a l s i a s i  t i p o 
d i  r u o t a  i n  l e g a  o  a c c i a i o .

• 	 I l  d i s e g n o  d e l l a  c o m b i n a z i o n e  i m p e d i s c e  
l a  r i m o z i o n e  c o n  u t e n s i l i  i n  c o m m e r c i o 

• 	 L’ e s a g o n o  d e l l a  c h i a v e  a n t i f u r t o  
p e r m e t t e  l ’ u t i l i z z o  d e l l a  c h i a v e 
i n  d o t a z i o n e  c o n  l a  v e t t u r a 

• 	 R o b u s t o  a n e l l o  r o t a n t e  a n t i  t a g l i o  c h e 
i m p e d i s c e  l o  s v i t a m e n t o  c o n  u t e n s i l i 

• 	 P r o d o t t i  c o n  t e c n o l o g i a ,  p r o c e s s o  
e  c o n t r o l l i  O E M 

• 	 C o r p o  i n  c l a s s e  d i  r e s i s t e n z a  1 0 . 9  ( b u l l o n i ) 
e  c l a s s e  d i  r e s i s t e n z a  1 0  ( d a d i ) 

• 	 F i l e t t a t u r a  e s e g u i t a  d o p o  b o n i f i c a 

• 	 P o s s i b i l i t à  d i  o t t e n e r e  l a  c h i a v e  
d i  r i c a m b i o  i n  c a s o  d i  p e r d i t a

R O T A R Y  R I N G 
R O N D E L L A  R O T A N T E



REF HEX. M L

B64/D 17 M14X1,5 26

B65C/D 17 M14X1,5 29

B65/D 17 M14X1,5 31

B66C/D 17 M14X1,5 33

B66/D 17 M14X1,5 35

B68/D 17 M14X1,5 40

B67/D 17 M14X1,5 50

B74/D 19 M14X1,5 26

B75C/D 19 M14X1,5 29

B75/D 19 M14X1,5 31

B76C/D 19 M14X1,5 33

B76/D 19 M14X1,5 35

B78/D 19 M14X1,5 40

B77/D 19 M14X1,5 50

N1/D 17 M14x1,25 28

N2/D 17 M14x1,25 35

N3/D 17 M14x1,25 40

BV2/D 17 M12X1,25 22

BV3/D 17 M12X1,25 26

BV5C/D 17 M12X1,25 28

BV5/D 17 M12X1,25 31

BV6/D 17 M12X1,25 35

BV7/D 17 M12X1,25 40

BV8/D 17 M12X1,25 45

BV9/D 17 M12X1,25 50

B02/D 19 M12X1,25 22

B03/D 19 M12X1,25 26

B05C/D 19 M12X1,25 28

B05/D 19 M12X1,25 31

B06/D 19 M12X1,25 35

B07/D 19 M12X1,25 40

B08/D 19 M12X1,25 45

B09/D 19 M12X1,25 50

B11/D 17 M12X1,5 18

B12/D 17 M12X1,5 21

B13/D 17 M12X1,5 23

B13L/D 17 M12X1,5 25

B14/D 17 M12X1,5 28

B16/D 17 M12X1,5 34

B17/D 17 M12X1,5 38

B18/D 17 M12X1,5 43

B20/D 17 M12X1,5 48

B21/D 19 M12X1,5 18

B22/D 19 M12X1,5 21

B23/D 19 M12X1,5 23

B24/D 19 M12X1,5 28

B26/D 19 M12X1,5 34

B27/D 19 M12X1,5 38

B28/D 19 M12X1,5 43

B30/D 19 M12X1,5 48

BOLT 60°
BULLONE 60°

REF. HEX. M L R

B53/D 17 M14X1,5 25 13

B54/D 17 M14X1,5 28 13

B55/D 17 M14X1,5 30 13

B56C/D 17 M14X1,5 32 13

B56/D 17 M14X1,5 35 13

B57/D 17 M14X1,5 40 13

B58/D 17 M14X1,5 45 13

B88/D 17 M14X1,5 50 13

B86/D 17 M14X1,5 55 13

B87/D 17 M14X1,5 60 13

B59/D 17 M14X1,5 70 13

B93/D 19 M14X1,5 25 13

B92/D 19 M14X1,5 28 13

B95/D 19 M14X1,5 30 13

B96C/D 19 M14X1,5 32 13

B96/D 19 M14X1,5 35 13

B97/D 19 M14X1,5 40 13

B94/D 19 M14X1,5 45 13

B98/D 19 M14X1,5 52 13

B41/D 17 M12X1,5 20 12

B42/D 17 M12X1,5 23 12

B44/D 17 M12X1,5 28 12

B46/D 17 M12X1,5 35 12

B47/D 17 M12X1,5 40 12

B48/D 17 M12X1,5 45 12

RADIUS BOLT 
BULLONE RAGGIATO

REF. HEX. M ø L A

BB8/D 19 M12X1,25 17 36 61

BE8/D 17 M12X1,25 17 36 61

BD8/D 21 M12X1,25 17 36 61

BC4/D 17 M12X1,5 18,5 33 57

FLAT BOLT WITH DIAMETER 
BULLONE PIATTO CON DIAMETRO

REF. HEX. M L A

BF6/D 17 M12X1,25 35 59

BE6/D 17 M12X1,25 35 66

BA6/D 19 M12X1,25 35 66

BB6/D 19 M12X1,25 35 59

BX8/D 19 M12X1,25 43 67

FLAT BOLT WITH WASHER 
BULLONE PIATTO CON RONDELLA

REF. HEX. M L

BR37/D 17 M12X1,5 25

BR3/D 19 M12X1,5 25

BR47/D 17 M14X1,5 28

BR4/D 19 M14X1,5 28

BOLT 60° WITH WASHER 
BULLONE CON RONDELLA 60°

REF. HEX. M L

D6/D 17 M12X1,5 20

D37/D 19 M12X1,5 20

D27/D 21 M12X1,5 20

D47/D 17 M12X1,25 20

D57/D 19 M12X1,25 20

D17/D 21 M12X1,25 20

NUT 60° OPEN 
DADO 60° APERTO

REF. HEX. M F L

D7/D 17 M12X1,5 25 34

D2/D 19 M12X1,5 25 34

D4/D 21 M12X1,5 25 34

D16/D 17 M12X1,25 25 34

D12/D 19 M12X1,25 25 34

D14/D 21 M12X1,25 25 34

D60/D 19 1/2" UNF 24 34

D81/D 19 7/16" UNF 25 34

D32/D 19 M14X1,5 26 34

D51/D 21 M14X1,5 26 34

NUT 60°  CLOSED 
DADO 60° CHIUSO

REF. HEX. M F L

DA1/D 19 M12X1,5 23 26

DA2/D 17 M12X1,5 23 26

NUT 60° WITH WASHER 
DADO 60° CON RONDELLA

REF. HEX. M L R

D21/D 17 M12X1,5 26 12

D22/D 19 M12X1,5 26 12

D5/D 21 M12X1,5 26 12

RADIUS NUT 
DADO RAGGIATO



3332

Available from over 40 years it  f its all  original 
equipment and af termarket wheels on all  cars 
(European, Asian and American cars etc). 
The combinations on the head is protected 
by hexagonal stainless steel caps which make 
the wheel lock bright and attractive 
on your wheels . 

• 	 High-resistant pins for a secure hold 

• 	 The key can be easily inser ted and taken 
out of the lock thanks to  
its automatic centering system 

•	 The wheel lock key ’s hexagon permits 
the use of the key given by the car 
manufacture 

• 	 Strong rotating r ing which doesn’t allow 
other tools to unscrew it 

• 	 Bolt ’s body class resistance 10.9 and nut ’s 
body class resistance 10  

• 	 Available for all  cars 

• 	 Possibil ity to obtain a new key  
in case of loss 

È  l ’ a n t i f u r t o  p i ù  c o n o s c i u t o  s u l  m e r c a t o 
d a  b e n  o l t r e  4 0  a n n i ,  è  d i s p o n i b i l e  p e r  t u t t e 
l e  v e t t u r e  e u r o p e e ,  a s i a t i c h e  e d  a m e r i c a n e , 
p e r  l e  r u o t e  i n  l e g a  e  n o n  o r i g i n a l i . 
L e  c o m b i n a z i o n i  p r o d o t t e  s u l l a  t e s t a 
d e l  b u l l o n e  s o n o  p r o t e t t e  d a  u n  t a p p o 
e s a g o n a l e  i n  a c c i a i o  i n o x  c h e  r e n d e 
l ’ a s p e t t o  f i n a l e  d e l l ’ a n t i f u r t o  b r i l l a n t e 
e  m o l t o  g r a d e v o l e  q u a n d o  v i e n e  m o n t a t o 
s u l l a  r u o t a .

• 	 P e r n i  i n  a c c i a i o  u l t r a r e s i s t e n t i  
p e r  u n a  t e n u t a  s i c u r a 

• 	 C h i a v e  a u t o c e n t r a n t e  p e r  u n  f a c i l e  
m o n t a g g i o  e  s m o n t a g g i o 

• 	 E s a g o n o  d e l l a  c h i a v e  a n t i f u r t o 
c h e  p e r m e t t e  l ’ u t i l i z z o  d e l l a  c h i a v e  
i n  d o t a z i o n e  c o n  l a  v e t t u r a 

• 	 A n e l l o  r o t a n t e  c h e  i m p e d i s c e  
l o  s v i t a m e n t o  c o n  u t e n s i l i 

• 	 C o r p o  i n  c l a s s e  d i  r e s i s t e n z a  1 0 . 9  
( b u l l o n i )  e  c o n  c l a s s e  d i  r e s i s t e n z a  1 0 
( d a d i ) 

• 	 D i s p o n i b i l e  p e r  t u t t i  i  t i p i  d i  v e t t u r a 

• 	 P o s s i b i l i t à  d i  o t t e n e r e  l a  c h i a v e  
d i  r i c a m b i o  i n  c a s o  d i  p e r d i t a

R O T A R Y  R I N G 
R O N D E L L A  R O T A N T E



REF. HEX. M L

C1 17 M14X1,5 25

C2 17 M14X1,5 29

C3 17 M14X1,5 35

C4 17 M14X1,5 40

C5 17 M14X1,5 45

791 19 M14X1,5 20

W2 19 M14X1,5 25

W3 19 M14X1,5 29

W8 19 M14X1,5 35

W5 19 M14X1,5 40

N1 17 M14x1,25 28

J1 19 M12X1,75 25

J2 19 M12X1,75 28

A1 17 M12X1,25 22

K 17 M12X1,25 25

E4 17 M12X1,25 31

E3 17 M12X1,25 35

SH3 17 M12X1,25 40

SH4 17 M12X1,25 45

SH5 17 M12X1,25 50

G 19 M12X1,25 22

A 19 M12X1,25 25

SH7 19 M12X1,25 27

E2 19 M12X1,25 29

E1 19 M12X1,25 31

E 19 M12X1,25 35

SH 19 M12X1,25 40

SH1 19 M12X1,25 45

SH2 19 M12X1,25 50

I2 17 M12X1,5 20

I3 17 M12X1,5 23

I 17 M12X1,5 26

I4 17 M12X1,5 28

I1 17 M12X1,5 30

SA1 17 M12X1,5 35

SA 17 M12X1,5 40

SA2 17 M12X1,5 45

SA3 17 M12X1,5 50

387 19 M12X1,5 20

P1 19 M12X1,5 23

P 19 M12X1,5 26

P2 19 M12X1,5 30

P3 19 M12X1,5 35

SF 19 M12X1,5 40

PP1 21 M12X1,5 20

PP2 21 M12X1,5 26

BOLT 60°
BULLONE 60°

REF. HEX. M L R

Z 17 M14X1,5 25 13

ZA 17 M14X1,5 27 13

Z2 17 M14X1,5 35 13

Z3 17 M14X1,5 40 13

Z4 17 M14X1,5 45 13

Z5 17 M14X1,5 70 13

691 19 M14X1,5 20 13

AL 19 M14X1,5 25 13

AL1 19 M14X1,5 27 13

AL3 19 M14X1,5 35 13

AL4 19 M14X1,5 40 13

AL5 19 M14X1,5 45 13

AL6 19 M14X1,5 52 13

L 17 M12X1,5 20 12

L2 17 M12X1,5 24 12

M 17 M12X1,5 28 12

SG1 17 M12X1,5 35 12

SG 17 M12X1,5 40 12

SG2 17 M12X1,5 45 12

AHD 19 M12X1,5 28 12

SG3 19 M12X1,5 40 12

ALKO 10 19 M10X1,25 22 12

RADIUS BOLT 
BULLONE RAGGIATO

REF. HEX. M L R

AL3/R 19 M14X1,5 36 14

BOLT WITH SPHERIC WASHER 
BULLONE CON RONDELLA SFERICA

REF. HEX. M L A SEDE

SGX 17 M12X1,5 40 92 12

SGY 17 M12X1,5 30 68 12

SGZ 17 M12X1,5 40 75 12

SGQ 17 M12X1,5 28 72 60°

SGW 17 M12X1,5 40 75 60°

483 17 M12X1,5 45 88 60°

583 17 M12X1,5 58 100 60°

SGK 17 M14X1,5 45 85 13

891A 17 M14X1,5 64 100 60°

CONICAL OR RADIUS BOLT WITH LONG HEAD
BULLONE CONICO O RAGGIATO CON TESTA ALLUNGATA

FLAT BOLT WITH DIAMETER 
BULLONE PIATTO CON DIAMETRO

REF. HEX. M ø L A

ZH4 17 M12X1,25 17 36 55

AH4 19 M12X1,25 17 36 55

VH4 21 M12X1,25 17 36 55

AH6 17 M12X1,5 18,5 33 53

REF. HEX. M L A

ZH1 17 M12X1,25 35 61

ZH2 17 M12X1,25 35 68

ZH3 17 M12X1,25 35 84

AH1 19 M12X1,25 35 61

AH2 19 M12X1,25 35 68

AH3 19 M12X1,25 35 84

AH 19 M12X1,25 43 69

AH5 19 M12X1,25 67 86

FLAT BOLT WITH WASHER 
 BULLONE PIATTO CON RONDELLA

REF. HEX. M F L

HA2 17 M12X1,5 21 30

H 19 M12X1,5 26 34

HA 19 M12X1,5 21 30

170 19 M12X1,5 26 34

490R 19 M12X1,5 25 38

H1 21 M12X1,5 26 34

HL 21 M12X1,5 32 48

HA1 21 M12X1,5 21 30

H2 22 M12X1,5 26 34

RA2 17 M12X1,25 21 30

R 19 M12X1,25 26 34

RA 19 M12X1,25 21 30

R1 21 M12X1,25 26 34

RA1 21 M12X1,25 21 30

AE 19 1/2" UNF 24 34

AE2 21 1/2" UNF 24 34

AE1 22 1/2" UNF 24 34

AD 19 M14X1,5 26 34

AD1 21 M14X1,5 26 34

192A 22 M14X1,5 27 34

S 19 7/16" UNF 26 34

QA 19 M10x1,25 22 30

Q 17 M10x1,25 22 30

AF 17 3/8" UNF 22 30

Q1 17 M10x1,5 22 30

NUT 60° 
DADO 60°

CONICAL NUT + CYLINDRICAL 60° 
DADO CONICO + CILINDRICO  60° 

REF. HEX. M ø L F A

T7 19 M12X1,25 16 7 27 34

T9 19 M12X1,25 18 12,5 30 42

979 19 M12X1,25 17,5 28 32 52

076 19 M12X1,5 16 12,5 27 34

T6 19 M12X1,5 16 7 27 34

T61 21 M12X1,5 16 7 27 34

682 21 M12X1,5 17,7 33 36 54

476 21 M12X1,5 17,5 7 26 35

576 21 M12X1,5 17,5 28 32 52

690 B 21 M12X1,5 17,5 16 34 44

389 A 19 1/2" UNF 17 12 29 38

REF. HEX. M F L

280 19 M12X1,5 22 30

NUT 60° WITH WASHER
DADO 60° CON RONDELLA

RADIUS NUT 
DADO RAGGIATO

REF. HEX. M F L R

AC 19 M12X1,25 22 30 12

AC1 19 M12X1,5 22 30 12

T 17 3/8" UNF 18 26 10

V 19 M14X1,5 25 34 12

V2 19 M14X1,5 24 24 12

V3 21 M14X1,5 24 24 12

RADIUS NUT + CONICAL 
DADO RAGGIATO CONICO

REF. HEX. M ø F A R

689 21 1/2" UNF 
Dx - SX 19,2 25 37 12

AG3 22 M12X1,5 21,5 26 34 12

FLAT NUT 
DADO PIATTO

REF. HEX. M ø L F A

AB 19 M12X1,25 19 3 17 26

179 19 M12X1,25 17 13 27 40

279 21 M12X1,25 17 13 27 40

379 21 M12X1,25 19 13 27 40

PA 19 M12X1,5 17 14 28 37

390 19 M12X1,5 16 19 28 42

690 19 M12X1,5 17,5 19 28 42

790 19 M12X1,5 17,3 30 28 53

890 19 M12X1,5 17,5 44 28 67

990 19 M12X1,5 17,5 35 28 58

290 21 M12X1,5 17 14 28 37

690 A 21 M12X1,5 17 19 30 42

990 A 21 M12X1,5 17 35 30 58

789 19 1/2" UNF 17,5 19 27 42

889 19 1/2" UNF 17,5 30 27 53

989 19 1/2" UNF 17,5 44 27 67

489 21 1/2" UNF 17,5 10 27 37

289 22 1/2" UNF 17,5 10 27 37

168 17 3/8" UNF 15 11 27 33

368 17 3/8" UNF 14 19 35 41

468 17 3/8" UNF 14 30 46 52

172 19 7/16" UNF 16 19 28 42

272 19 7/16" UNF 16 30 28 53

372 19 7/16" UNF 16 44 28 67

472 19 7/16" UNF 17,5 19 28 42

572 19 7/16" UNF 17,5 30 28 43

672 19 7/16" UNF 17,5 44 28 67

772 22 7/16" UNF 19 13 28 36

CONICAL NUT WITH FLAT WASHER
DADO CONICO CON RONDELLA PIATTA

REF. HEX. M ø L F A

490 19 M12X1,5 18 13 25 38

F 19 M12X1,5 18,5 13 24 34

782 19 M12X1,5 18,5 10 24 34

462 19 M12X1,5 18,5 12 35 44

282 21 M12X1,5 18,5 10 24 34

482 21 M12X1,5 18,5 12 35 44

382 21 M12X1,5 18,5 12 25 36

AG4 22 M14X1,5 20 20 32 40

392 22 M14X1,5 22 11,5 32 42

TE 19 1/2" UNF 21,5 17 25 33



3736

The design of the Locky wheel lock is made 
to withstand ver y high levels of torque. 
This wheel lock is per fect for wheels with 
small  l ightweight nuts with open hole. 
The Locky wheel lock f its all  original 
equipment and af termarket wheels 
on all  cars (European, Asian and American 
cars etc).   The combinations on the head of 
the wheel locks are protected by hexagonal 
stainless steel caps which make the wheel 
lock bright and attractive on your wheels .

• 	 The wheel lock key ’s hexagon permits 
also the use of the key given by the car 
manufacturer 

• 	 Head cut resistant and per foration-proof 

• 	 Bolt ’s body class resistance 10.9  
and nut ’s body class resistance 10 

•	 Thread made af ter heat treatment 

• 	 Available for all  cars 

• 	 Possibil ity to obtain a new key  
in case of loss

L a  t i p o l o g i a  d i  c o m b i n a z i o n e  l o  r e n d e  m o l t o 
r e s i s t e n t e  a l l a  t o r s i o n e  e d  è  p a r t i c o l a r m e n t e 
i n d i c a t o  c o m e  a n t i f u r t o  p e r  d a d i  m o l t o  p i c c o l i 
e  l e g g e r i  c o n  f o r o  p a s s a n t e .  I l  b u l l o n e  a n t i f u r t o 
è  d i s p o n i b i l e  p e r  t u t t e  l e  v e t t u r e  e u r o p e e , 
a s i a t i c h e  e  a m e r i c a n e  p e r  l e  r u o t e  i n  l e g a  
e  n o n  o r i g i n a l i .  L e  c o m b i n a z i o n i  s o n o  p r o t e t t e 
d a  u n  t a p p o  e s a g o n a l e  i n  a c c i a i o  i n o x , 
c h e  r e n d e  l ’ a s p e t t o  f i n a l e  d e l l ’ a n t i f u r t o 
b r i l l a n t e  e  m o l t o  g r a d e v o l e  q u a n d o  v i e n e 
m o n t a t o  s u l l a  r u o t a .

• 	 E s a g o n o  d e l l a  c h i a v e  a n t i f u r t o  
c h e  p e r m e t t e  l ’ u t i l i z z o  d e l l a  c h i a v e  
i n  d o t a z i o n e  c o n  l a  v e t t u r a 

• 	 T e s t a  a  p r o v a  d i  p e r f o r a z i o n e  e  t a g l i o 

• 	 C o r p o  i n  c l a s s e  d i  r e s i s t e n z a  
1 0 . 9  ( b u l l o n i )  e  c o n  c l a s s e  
d i  r e s i s t e n z a  1 0  ( d a d i ) 

• 	 F i l e t t a t u r a  e s e g u i t a  d o p o  b o n i f i c a 

• 	 D i s p o n i b i l e  p e r  t u t t i  i  t i p i  d i  v e t t u r a 

• 	 P o s s i b i l i t à  d i  o t t e n e r e  l a  c h i a v e  d i  r i c a m b i o 
i n  c a s o  d i  p e r d i t a



REF HEX. M L

B63 17 M14X1,5 25

B64 17 M14X1,5 27

B65 17 M14X1,5 30

B66 17 M14X1,5 35

B67 17 M14X1,5 50

B68 17 M14X1,5 40

B69 17 M14X1,5 45

B73 19 M14X1,5 25

B74 19 M14X1,5 27

B75 19 M14X1,5 30

B76 19 M14X1,5 35

B85 24 M14X1,5 30

B35 21 M14X1,5 30

BN1/C 17 M14x1,25 28

B90 24 M16X1,5 32

B91 21 M16X1,5 32

B99 19 M16X1,5 32

B100 22 M16X1,5 32

BG1 19 M12X1,75 25

BG2 19 M12X1,75 28

BV2 17 M12X1,25 22

BV3 17 M12X1,25 26

BV5 17 M12X1,25 31

BV6 17 M12X1,25 35

BV7 17 M12X1,25 40

BV8 17 M12X1,25 45

BV9 17 M12X1,25 50

B02 19 M12X1,25 22

B03 19 M12X1,25 26

B04 19 M12X1,25 31

B05 19 M12X1,25 31

B06 19 M12X1,25 35

B07 19 M12X1,25 40

B08 19 M12X1,25 45

B09 19 M12X1,25 50

B11 17 M12X1,5 20

B12 17 M12X1,5 23

B13 17 M12X1,5 25

B15 17 M12X1,5 30

B16 17 M12X1,5 35

B17 17 M12X1,5 40

B18 17 M12X1,5 45

B20 17 M12X1,5 50

B21 19 M12X1,5 20

B22 19 M12X1,5 23

B23 19 M12X1,5 25

B25 19 M12X1,5 30

B26 19 M12X1,5 35

B27 19 M12X1,5 40

BOLT 60°
BULLONE 60°

REF. HEX. M L R

B53 17 M14X1,5 25 13

B54 17 M14X1,5 28 13

B55 17 M14X1,5 30 13

B56 17 M14X1,5 35 13

B57 17 M14X1,5 40 13

B58 17 M14X1,5 45 13

B88 17 M14X1,5 50 13

B86 17 M14X1,5 55 13

B87 17 M14X1,5 60 13

B59 17 M14X1,5 70 13

B93 19 M14X1,5 25 13

B92 19 M14X1,5 28 13

B95 19 M14X1,5 30 13

B96 19 M14X1,5 35 13

B97 19 M14X1,5 40 13

B94 19 M14X1,5 45 13

B98 19 M14X1,5 52 13

B41 17 M12X1,5 20 12

B42 17 M12X1,5 24 12

B44 17 M12X1,5 28 12

B45 17 M12X1,5 31 12

B46 17 M12X1,5 35 12

B47 17 M12X1,5 40 12

B48 17 M12X1,5 45 12

B49 17 M12X1,5 50 12

B50 17 M12X1,5 56 12

RADIUS BOLT 
BULLONE RAGGIATO

CONICAL OR RADIUS BOLT WITH LONG HEAD 
BULLONE CONICO O RAGGIATO CON TESTA ALLUNGATA

REF. HEX. M L A SEDE

BM5 17 M12X1,5 30 68 R

BM8 17 M12X1,5 39 74 R

BM9 17 M14X1,5 45 85 R

BOLT INER-AXE VARIATION 
BULLONE VARIAZIONE INTERASSE

REF. HEX. M L

BZ5 17 M12X1,25 27

BZ6 17 M12X1,25 30

BZ8 17 M12X1,25 34

BZ2 19 M12X1,25 30

BZ4 19 M12X1,25 34

BZ9 19 M12X1,25 27

BZ3 17 M12X1,5 30

BZ7 19 M12X1,5 30

FLAT BOLT WITH DIAMETER 
BULLONE PIATTO CON DIAMETRO

REF. HEX. M ø L A

BB8 19 M12X1,25 17 36 63

BE8 17 M12X1,25 17 36 63

BD8 21 M12X1,25 17 36 63

BC4 17 M12X1,5 18,5 33 53

REF. HEX. M L A

BF6 17 M12X1,25 35 61

BE6 17 M12X1,25 35 69

BE7 17 M12X1,25 35 87

BA6 19 M12X1,25 35 69

BB6 19 M12X1,25 35 61

BX8 19 M12X1,25 43 67

BB7 19 M12X1,25 35 87

FLAT BOLT WITH WASHER 
BULLONE PIATTO CON RONDELLA

REF. HEX. M L

BF2 24 M14X1,5 34

BF3 24 M16X1,5 34

BOLT 60° WITH WASHER 
BULLONE CON RONDELLA 60°

NUT 60° 
DADO 60°

CONICAL NUT + CYLINDRICAL 60°
DADO CONICO + CILINDRICO 60° 

REF. HEX. M ø L F A

TL6 19 M12X1,25 15,5 4,5 33 33

TL4 19 M12X1,25 15,5 7 28 28

TL15 19 M12X1,25 17 12 43 43

TL3 21 M12X1,25 15,5 7 28 28

TL7 21 M12X1,25 15,5 4,5 33 33

TL10 21 M12X1,25 15,5 4,5 25 38

TL12 21 M12X1,25 17 12 43 43

TL1 19 M12X1,5 15,5 7 28 28

TL8 19 M12X1,5 15,5 4,5 33 33

TL14 19 M12X1,5 17 12 43 43

TL2 21 M12X1,5 15,5 7 28 28

TL9 21 M12X1,5 15,5 4,5 33 33

TL11 21 M12X1,5 17 12 43 43

TL5 19 1/2" UNF 15,5 7 28 28

REF. HEX. M F L

DA1 19 M12X1,5 27 27

DA5 19 M12X1,25 27 27

NUT 60° WITH WASHER 
DADO 60° CON RONDELLA

RADIUS NUT 
DADO RAGGIATO

REF. HEX. M F L R

D21 17 M12X1,5 25 25 12

D22 19 M12X1,5 25 25 12

D5 21 M12X1,5 25 25 12

D7 22 M12X1,5 25 25 12

D82 21 M12X1,25 25 25 12

D43 19 M14X1,5 24 24 12

D42 19 M14X1,5 32 32 12

D44 21 M14X1,5 24 24 12

D45 22 M14X1,5 24 24 12

CONICAL NUT WITH FLAT WASHER 
DADO CONICO CON RONDELLA PIATTA

REF. HEX. M ø L F A

DD3 27 M14X1,5 29 18,5 30 47

DD2 27 M16X1,5 29 18,5 30 47

REF. HEX. M L

D6 17 M12X1,5 27

D1 19 M12X1,5 27

D2 19 M12X1,5 34

D37 19 M12X1,5 21

D3 21 M12X1,5 27

D4 21 M12X1,5 34

D27 21 M12X1,5 21

D47 17 M12X1,25 21

D15 17 M12X1,25 27

D16 17 M12X1,25 34

D11 19 M12X1,25 27

D12 19 M12X1,25 34

D57 19 M12X1,25 21

D13 21 M12X1,25 27

D14 21 M12X1,25 34

D17 21 M12X1,25 21

D59 19 1/2" UNF 27

D60 19 1/2" UNF 34

D61 22 1/2" UNF 34

D71 19 7/16" UNF 27

D81 19 7/16" UNF 34

D75 17 3/8" UNF 27

D32 19 M14X1,5 34

D33 17 M14X1,5 26

D31 19 M14X1,5 26

D51 21 M14X1,5 26

D62 21 M14X1,5 34

D63 22 M14X1,5 26

DD1 27 M16X1,5 25



4140

Locket is a universal wheel lock which covers 
the 98% of the European car market . 
The combinations on the head of the wheel 
locks are protected by hexagonal stainless 
steel caps which  make the wheel lock bright 
and attractive on your wheels .

• 	 The wheel lock key ’s hexagon permits 
also the use of the key given by the car 
manufacturer 

• 	 Bolt ’s body class resistance 10.9  
and nut ’s body class resistance 10 

•	 Thread made af ter heat treatment 

• 	 Available for all  cars 

• 	 Possibil ity to obtain a new key  
in case of loss

P r o g e t t a t o  c o m e  b u l l o n e  a n t i f u r t o  u n i v e r s a l e , 
r i c o p r e  i l  9 8 %  d e l l a  g a m m a  d i  v e t t u r e  e s i s t e n t i 
s u l  m e r c a t o  e u r o p e o . 
L e  c o m b i n a z i o n i  s o n o  p r o t e t t e  d a  u n  t a p p o 
e s a g o n a l e  i n  a c c i a i o  i n o x  c h e  r e n d e  l ’ a s p e t t o 
f i n a l e  d e l l ’ a n t i f u r t o  b r i l l a n t e  e  g r a d e v o l e 
q u a n d o  v i e n e  m o n t a t o  s u l l a  r u o t a .

• 	 E s a g o n o  d e l l a  c h i a v e  a n t i f u r t o  
c h e  p e r m e t t e  l ’ u t i l i z z o  d e l l a  c h i a v e  
i n  d o t a z i o n e  c o n  l a  v e t t u r a 

• 	 C o r p o  i n  c l a s s e  d i  r e s i s t e n z a  1 0 . 9  ( b u l l o n i ) 
e  c o n  c l a s s e  d i  r e s i s t e n z a  1 0  ( d a d i ) 

• 	 F i l e t t a t u r a  e s e g u i t a  d o p o  b o n i f i c a 

• 	 D i s p o n i b i l e  p e r  t u t t i  i  t i p i  d i  v e t t u r a 

• 	 P o s s i b i l i t à  d i  o t t e n e r e  l a  c h i a v e  
d i  r i c a m b i o  i n  c a s o  d i  p e r d i t a



REF. HEX. M ø L A

DB10 19/17 M12X1,25 17 36 63

FLAT BOLT WITH DIAMETER 
BULLONE PIATTO CON DIAMETRO

REF. HEX. M L A

BB6 19 M12X1,25 35 61

FLAT BOLT WITH WASHER 
BULLONE PIATTO CON RONDELLA

REF. HEX. M L A B F

DB2 19/17 M12X1,5 27 50 11 35

DB1 19/17 M12X1,25 27 50 11 35

DB5 17 M14X1,5 26 50 11 35

NUT 60° 
DADO 60°

REF. HEX. M F L

DB6 19 M12X1,5 27 27

NUT 60° WITH WASHER 
DADO 60° CON RONDELLA

REF. HEX. M L R A B F

DB3 17 M12X1,5 25 12 50 11 35

DB4 17 M14X1,5 24 12 50 11 35

RADIUS NUT 
DADO RAGGIATO



4544

Wheel lock to protect alloy wheels  
with l ittle holes up to 21 mm of diameter.

• 	 The combination’s design prevents  
the extraction with tools available  
on the market 

• 	 Impossible to pierce the bolt ’s or nut ’s 
head 

•	 The bolt ’s body class resistance is 10.9 
and the nut ’s body class resistance is 10 

•	 Compact design

V i t i  a n t i f u r t o  p e r  p r o t e g g e r e  l e  r u o t e 
i n  l e g a  c o n  i  f o r i  p i c c o l i  d i  d i a m e t r o 
f i n o  a  2 1  m m .

• 	 L a  s t r u t t u r a  d e l l a  c o m b i n a z i o n e  a n t i f u r t o 
i m p e d i s c e  l o  s v i t a m e n t o  c o n  l ’ u t i l i z z o  
d i  u t e n s i l i  d i s p o n i b i l i  s u l  m e r c a t o 

• 	 T e s t a  d e l  b u l l o n e  o  d a d o  a  p r o v a  
d i  p e r f o r a z i o n e 

• 	 C o r p o  i n  c l a s s e  d i  r e s i s t e n z a  1 0 . 9  ( b u l l o n i ) 
e  c l a s s e  d i  r e s i s t e n z a  1 0  ( d a d i ) 

• 	 D e s i g n  c o m p a t t o

REF. HEX. M F L

H/J 17/19 M12X1,5 22 36

R/J 17/19 M12X1,25 22 36

AD/J 17/19 M14X1,5 22 36

REF. HEX. M L

I3/J 17/19 M12X1,5 22

I/J 17/19 M12X1,5 26

I1/J 17/19 M12X1,5 30

I2/J 17/19 M12X1,5 33

I7/J 17/19 M12X1,5 38

SA/J 17/19 M12X1,5 41

SA2/J 17/19 M12X1,5 45

K/J 17/19 M12X1,25 25

E1/J 17/19 M12X1,25 31

E/J 17/19 M12X1,25 35

SH/J 17/19 M12X1,25 41

C1/J 17/19 M14X1,5 25

C2/J 17/19 M14X1,5 30

C5/J 17/19 M14X1,5 35

C4/J 17/19 M14X1,5 40

C3/J 17/19 M14X1,5 45

N/J 17/19 M14x1,25 27

N1/J 17/19 M14x1,25 28

N2/J 17/19 M14x1,25 30

N3/J 17/19 M14x1,25 35

N4/J 17/19 M14x1,25 40

N5/J 17/19 M14x1,25 45

NUT 60° 
DADO 60°

BOLT 60° 
BULLONE 60°

REF. HEX. M ø L F A

T6/J 17/19 M12X1,5 16 7 27 38

T7/J 17/19 M12X1,25 16 7 27 38

CONICAL NUT + CYLINDRICAL 60° 
DADO CONICO + CILINDRICO 60°



4746

THE TRUCkLock is ver y simple to install 
and it  is the ideal and safest solution 
to protect the vans’  wheels from 
any kind of thef t .

• 	 The key can be easily inser ted and taken 
out of the lock thanks to its automatic 
centering system 

•	 The wheel lock key ’s hexagon permits 
the use of the key given by the truck 
manufacturer 

• 	 Strong rotar y anti-cutting r ing which 
doesn’t allow other tools to unscrew it 

• 	 Per foration-proof head 

•	 The bolt ’s body class resistance  
is 10 

•	 The wheel lock prevents the unscrewing of 
the original nut 

• 	 Available for all  trucks 

• 	 Patented 

•	 The combination’s design prevents  
the extraction with tools available  
on the market 

• 	 Per foration-proof head

M o l t o  s i c u r o  e  f a c i l e  d a  m o n t a r e , 
i l  T r u c k L o c k  è  l a  s o l u z i o n e  i d e a l e 
p e r  p r o t e g g e r e  l e  r u o t e  d e i  c a m i o n 
d a  q u a l s i a s i  t i p o  d i  f u r t o .

• 	 C h i a v e  a u t o c e n t r a n t e  p e r  
u n  f a c i l e  m o n t a g g i o  e  s m o n t a g g i o 

• 	 L’ e s a g o n o  d e l l a  c h i a v e  a n t i f u r t o  
p e r m e t t e  l ’ u t i l i z z o  d e l l a  c h i a v e  
d e l l e  r u o t e  o r i g i n a l i  d e l  c a m i o n 

• 	 R o b u s t o  a n e l l o  r o t a n t e  a n t i  t a g l i o  
c h e  i m p e d i s c e  l o  s v i t a m e n t o  
c o n  u t e n s i l i  d i s p o n i b i l i  s u l  m e r c a t o 

• 	 T e s t a  a  p r o v a  d i  p e r f o r a z i o n e 

• 	 C o r p o  c o n  c l a s s e  d i  r e s i s t e n z a  1 0 

• 	 L’ a n t i f u r t o  i m p e d i s c e  l o  s v i t a m e n t o  
d e l  d a d o  o r i g i n a l e 

• 	 D i s p o n i b i l e  p e r  t u t t i  i  t i p i  d i  c a m i o n 

• 	 B r e v e t t a t o 

• 	 L a  s t r u t t u r a  d e l l a  c o m b i n a z i o n e  a n t i f u r t o 
i m p e d i s c e  l o  s v i t a m e n t o  c o n  l ’ u t i l i z z o 
d i  u t e n s i l i  d i s p o n i b i l i  s u l  m e r c a t o 

• 	 T e s t a  a  p r o v a  d i  p e r f o r a z i o n e



HOW TO ORDER THE WHEEL LOCKS FOR YOUR TRUCK 
COME ORDINARE L’ANTIFURTO RUOTE IN BASE AL PROPRIO CAMION

FOR STEEL WHEELS
PER CERCHI IN ACCIAIO

FOR STEEL ALLOY
PER CERCHI IN LEGA

IT IS POSSIBLE TO ORDER THE SAME COMBINATION FOR ALL YOUR TRUCKS 
E’ POSSIBILE AVERE LA STESSA COMBINAZIONE PER TUTTI I VOSTRI CAMION

A B C

TIPO FILETTO TIPO ESAGONO OPTIONAL 

LA8/L M18x1,5 CH27P/L 27 DC18 /L

LA7/L M20x1,5 CH30/L 30 DC20 /L

LA3/L M22x1,5 CH32/L 32 DC22 /L

LA6/L M22x1,5 CH33/L 33 DC22 /L

DS4/H M16x1,5 CH35/L 22 -

LA5/L 7/8-14UNF CH33/L 33 DC25/L

LA4/L 7/8-11BSF CH33/L 33 DC24 /L

A B C

TIPO FILETTO L TIPO ESAGONO OPTIONAL 

LA1/L M22x1,5 12 CH32/L 32 PTR/L

LA2/L M22x1,5 35 CH32/L 32 PTR/L

AVAILABLE FOR STEEL WHEELS 
DISPONIBILI PER RUOTE IN ACCIAIO

AVAILABLE FOR ORIGINAL ALLOY WHEELS 
DISPONIBILI PER RUOTE IN LEGA



E A S Y  F I T T I N G ,  E L E G A N C E  A N D  S A F E T Y : 
T H E S E  A R E  T H E  K E Y  W O R D S  F O R  FA R A D  R O O F  B A R S .

E S T R E M A  F A C I L I T À  D I  M O N T A G G I O ,  E L E G A N Z A  E  S I C U R E Z Z A 

S O N O  L E  P A R O L E  C H I A V E  D E L L E  B A R R E  F A R A D .

ROOF  BARS
B A R R E  P O R T A T U T T O

ROOF  BARS
B A R R E  P O R T A T U T T O

ROOF  BARS
B A R R E  P O R T A T U T T O

ROOF  BARS
B A R R E  P O R T A T U T T O

ROOF  BARS
B A R R E  P O R T A T U T T O



5352

PREASSEMBLED

IRON ROOF BARS ALUMINIUM ROOF BARS

BEAMAR PREASSEMBLED SIME PREASSEMBLED HILOPLUS PREASSEMBLED

LE
N

G
TH

 C
M

 
LU

N
G

H
EZ

ZA
 C

M

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

 R
EQ

U
IR

ED
KI

T 
D

I F
IS

SA
G

G
IO

 R
IC

H
IE

ST
O

N
O

 T
O

O
LS

 R
EQ

U
IR

ED
M

O
N

TA
G

G
IO

 S
EN

ZA
 U

TE
N

SI
LI

LO
C

K
IN

G
 S

YS
TE

M
 IN

C
LU

D
ED

SE
RR

AT
U

RA
 IN

C
LU

SA

100 110 120 130 140 160

✓ ✓ ✓ ✓ ✓ 51 100 ✓ ✓

LE
N

G
TH

 C
M

 
LU

N
G

H
EZ

ZA
 C

M

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

 R
EQ

U
IR

ED
KI

T 
D

I F
IS

SA
G

G
IO

 R
IC

H
IE

ST
O

N
O

 T
O

O
LS

 R
EQ

U
IR

ED
M

O
N

TA
G

G
IO

 S
EN

ZA
 U

TE
N

SI
LI

LO
C

K
IN

G
 S

YS
TE

M
 IN

C
LU

D
ED

SE
RR

AT
U

RA
 IN

C
LU

SA

100 110 120 130 140 160

✓ ✓ ✓ 56 100 ✓ ✓

ALU + KIT BM ALU + KIT SM IRON 3 + KIT HILO

LE
N

G
TH

 C
M

 
LU

N
G

H
EZ

ZA
 C

M

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

 R
EQ

U
IR

ED
KI

T 
D

I F
IS

SA
G

G
IO

 R
IC

H
IE

ST
O

N
O

 T
O

O
LS

 R
EQ

U
IR

ED
M

O
N

TA
G

G
IO

 S
EN

ZA
 U

TE
N

SI
LI

SHORT  CORTA LONG  LUNGA

76 >113 104 > 136,5 90 75 ✓ ✓

TELESCOPIC T E L E S C O P I C A

IRON
IRON 2

ALUMINIUM AERODYNAMIC SILVER AERODYNAMIC BLACKIRONQUADRA
IRON 4

IRON TELESCOPIC
IRON 3

LE
N

G
TH

 C
M

 
LU

N
G

H
EZ

ZA
 C

M

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

 R
EQ

U
IR

ED
KI

T 
D

I F
IS

SA
G

G
IO

 R
IC

H
IE

ST
O

N
O

 T
O

O
LS

 R
EQ

U
IR

ED
M

O
N

TA
G

G
IO

 S
EN

ZA
 U

TE
N

SI
LI

100 110 120 130 140 160

✓ ✓ ✓ ✓ ✓ 27 75 ✓ ✓

LE
N

G
TH

 C
M

 
LU

N
G

H
EZ

ZA
 C

M

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

 R
EQ

U
IR

ED
KI

T 
D

I F
IS

SA
G

G
IO

 R
IC

H
IE

ST
O

N
O

 T
O

O
LS

 R
EQ

U
IR

ED
M

O
N

TA
G

G
IO

 S
EN

ZA
 U

TE
N

SI
LI

100 110 120 130 140 160

✓ ✓ ✓ ✓ ✓ ✓ 27 100 ✓ ✓

LE
N

G
TH

 C
M

 
LU

N
G

H
EZ

ZA
 C

M

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

 R
EQ

U
IR

ED
KI

T 
D

I F
IS

SA
G

G
IO

 R
IC

H
IE

ST
O

N
O

 T
O

O
LS

 R
EQ

U
IR

ED
M

O
N

TA
G

G
IO

 S
EN

ZA
 U

TE
N

SI
LI

100 110 120 130 140 160

✓ ✓ ✓ ✓ ✓ 27 100 ✓ ✓

LE
N

G
TH

 C
M

 
LU

N
G

H
EZ

ZA
 C

M

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

 R
EQ

U
IR

ED
KI

T 
D

I F
IS

SA
G

G
IO

 R
IC

H
IE

ST
O

N
O

 T
O

O
LS

 R
EQ

U
IR

ED
M

O
N

TA
G

G
IO

 S
EN

ZA
 U

TE
N

SI
LI

100 110 120 130 140 160

✓ ✓ ✓ ✓ ✓ 27 100 ✓ ✓

LE
N

G
TH

 C
M

 
LU

N
G

H
EZ

ZA
 C

M

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

 R
EQ

U
IR

ED
KI

T 
D

I F
IS

SA
G

G
IO

 R
IC

H
IE

ST
O

N
O

 T
O

O
LS

 R
EQ

U
IR

ED
M

O
N

TA
G

G
IO

 S
EN

ZA
 U

TE
N

SI
LI

100 110 120 130 140 160

✓ ✓ ✓ ✓ 22 75 ✓ ✓

LE
N

G
TH

 C
M

 
LU

N
G

H
EZ

ZA
 C

M

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

 R
EQ

U
IR

ED
KI

T 
D

I F
IS

SA
G

G
IO

 R
IC

H
IE

ST
O

N
O

 T
O

O
LS

 R
EQ

U
IR

ED
M

O
N

TA
G

G
IO

 S
EN

ZA
 U

TE
N

SI
LI

SHORT CORTA LONG LUNGA

76 >113 104 > 136,5 27 75 ✓ ✓

TELESCOPIC T E L E S C O P I C A



5554

UNIVERSAL KIT CLASSIC KIT

KIT HILO
FOR CARS WITH HIGH AND INTEGRATED ROOF RAILS
 PER AUTO CON CORRIMANO ALTO E BASSO

KIT SM
FOR CARS WITH HIGH ROOF RAILS
PER AUTO CON CORRIMANO ALTO

KIT BM
FOR CARS WITH INTEGRATED ROOF RAILS
PER AUTO CON CORRIMANO BASSO

KIT BS
SPECIFIC KIT FOR CARS WITHOUT ROOF RAILS
KIT SPECIFICO PER AUTO SENZA CORRIMANO

COMPATIBLE WITH ALL BARS
COMPATIBILI CON TUTTE LE BARRE

COMPATIBLE WITH ALL BARS
COMPATIBILI CON TUTTE LE BARRE

NOT COMPATIBLE WITH IRON 4
NON COMPATIBILI CON IRON 4

SMART KIT

LINK LINKKIT HX KIT LX

+ +

FOR CARS WITH HIGH ROOF RAILS
PER AUTO CON CORRIMANO ALTO

FOR CARS WITH INTEGRATED 
ROOF RAILS
PER AUTO CON CORRIMANO BASSO

LINK KIT PR

+

FOR CARS WITHOUT ROOF RAILS 
WITH FIX POINTS
PER AUTO SENZA CORRIMANO 
CON PREDISPOSIZIONE

LINK KIT PK

+

FOR CARS WITHOUT ROOF RAILS 
WITH FIX POINTS
PER AUTO SENZA CORRIMANO 
CON PREDISPOSIZIONE

LINK KIT SX

+

SPECIFIC KIT FOR CARS 
WITHOUT ROOF RAILS
KIT SPECIFICO PER AUTO 
SENZA CORRIMANO



5756

COMPACT SILVER COMPACT BLACK

L
E

N
G

T
H

 C
M

 
LU

N
G

H
E

Z
Z

A
 C

M

B
A

R
 H

E
IG

H
T

 M
M

 
A

LT
E

Z
Z

A
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
S

S
IM

O
 K

G

F
IX

IN
G

 S
Y

S
T

E
M

 R
E

Q
U

IR
E

D
K

IT
 D

I 
FI

S
S

A
G

G
IO

 R
IC

H
IE

S
T

O

N
O

 T
O

O
L

S
 R

E
Q

U
IR

E
D

M
O

N
TA

G
G

IO
 S

E
N

Z
A

 U
T

E
N

S
IL

I

70 - 70 70 - 80 80 - 80 80 - 90 90 - 90 90  - 100 100 - 100 100 - 110

✓ ✓ ✓ ✓ ✓ ✓ ✓ ✓ 105 100 ✓ ✓

COMPACT BARS COMPACT + KIT COMPATIBLE WITH ALL KITS
COMPATIBILI CON TUTTI I  KIT

COMPACT + KIT HX FOR CARS WITH HIGH ROOF RAILS - PER AUTO CON CORRIMANO ALTO

COMPACT + KIT LX FOR CARS WITH INTEGRATED ROOF RAILS - PER AUTO CON CORRIMANO BASSO

COMPACT + KIT PR FOR CARS WITHOUT ROOF RAILS WITH FIX POINTS - PER AUTO SENZA CORRIMANO CON PREDISPOSIZIONE

COMPACT + KIT PK FOR CARS WITHOUT ROOF RAILS WITH FIX POINTS - PER AUTO SENZA CORRIMANO CON PREDISPOSIZIONE

COMPACT + KIT SX SPECIFIC KIT FOR CARS WITHOUT ROOF RAILS  - KIT SPECIFICO PER AUTO SENZA CORRIMANO



5958

B
A

R
 H

EI
G

H
T 

M
M

 
A

LT
EZ

ZA
 B

A
R

R
A

 M
M

M
A

X
IM

U
M

 L
O

A
D

 K
G

C
A

R
IC

O
 M

A
SS

IM
O

 K
G

FI
X

IN
G

 S
YS

TE
M

  
R

EQ
U

IR
ED

KI
T 

D
I F

IS
SA

G
G

IO
  

R
IC

H
IE

ST
O

N
O

 T
O

O
LS

  
R

EQ
U

IR
ED

M
O

N
TA

G
G

IO
 S

EN
ZA

 
U

TE
N

SI
LI

130 140 150 160 180
✓ ✓ ✓ ✓ ✓ 44 100 ✓ ✓

SET FOR 2 BARS

SET FOR 3 BARS

SET FOR 2 BARS

SET FOR 3 BARS

SET FOR 2 BARS

SET FOR 3 BARS

ALU PACK

COMMERCIAL BARS

KITS & ACCESSORIES

KIT AC
FIXING KIT FOR BARS FOR VANS
KIT DI FISSAGGIO PER BARRE VEICOLI COMMERCIALI

ROLLER
LOADING ROLLER 
RULLO DA CARICO

LOAD STOP
LOA D  STO P
SPONDINA FERMACARICO

E X T E N D E R  RO L L E R
ROLLER ADJUSTABLE BRACKET
STAFFE REGOLAZIONE RULLO

SHORT 50cm

LONG 100cm

SUITABLE FOR ALU PACK, ALUMINIUM OR IRON ROOF BARS: - ALUMINIUM, 130, 140, 160 -IRON 2, 120, 130, 140 -IRON 4, 120, 130



H I G H  Q U A L I T Y,  M O D E R N  D E S I G N 
A N D  E L E G A N T  F I N I S H I N G  M A K E  FA R A D  R O O F  B O X E S 
YO U R  I D E A L  T R AV E L  C O M PA N I O N .
T H A N K S  T O  T H E  W I D E  C H O I C E  O F  C O L O R S , 
D I M E N S I O N S  A N D  S T Y L E , 
YO U  C A N  E A S I LY  F I N D  T H E  C O R R E C T  P R O D U C T 
T O  F I T  YO U R  N E E D S .

A L T I S S I M A  Q U A L I T À ,  D E S I G N  M O D E R N O 

E  F I N I T U R E  D I  P R E S T I G I O  F A N N O  D E L  B A U L E  F A R A D

 I L  C O M P A G N O  F I D A T O  D I  O G N I  V I A G G I O . 

G R A Z I E  A L L A  V A S T A  G A M M A ,  N O N  S A R À  U N  P R O B L E M A 

T R O V A R E  I L  P R O D O T T O  D I  C O L O R E ,  D I M E N S I O N E 

E  S T I L E  P I Ù  A D A T T O  A L L E  V O S T R E  E S I G E N Z E .

ROOF  BOXES
B A U L I

ROOF  BOXES
B A U L I

ROOF  BOXES
B A U L I

ROOF  BOXES
B A U L I

ROOF  BOXES
B A U L I



6362

RAYA

Double-side opening 
Doppia apertura

Compass opening
Apertura con compasso meccanico

Safety locking  system
Chiave antifurto

Three point centralized closure
 Chiusura centralizzata in tre punti

Quick fix
 Fissaggio rapido

TRAVEL WITHOUT LIMITS 
WITH THE NEW RAYA ROOF BOX: 

ORGANIZE EVERYTHING YOU NEED 
AND PROTECT YOUR BELONGINGS 

WITH COMPLETE SECURITY. 
ENJOY EVERY ADVENTURE 

WITHOUT WORRIES!
V I A G G I A  S E N Z A  L I M I T I  C O N  I L  N U O V O  B O X  R A Y A : 

O R G A N I Z Z A  T U T T O  C I Ò  D I  C U I  H A I  B I S O G N O  
E  P R O T E G G I  I  T U O I  O G G E T T I  I N  T O T A L E  S I C U R E Z Z A . 
G O D I T I  O G N I  A V V E N T U R A  S E N Z A  P R E O C C U P A Z I O N I !

The bottom line of the box was designed 
to increase the aerodynamics

 La linea del box è stata progettata 
per aumentare la aerodinamica



6564

LI
TR

ES
 

LI
TR

I

O
U

TE
R

 D
IM

EN
SI

O
N

S 
C

M
 

D
IM

EN
SI

O
N

I E
ST

ER
N

E 
C

M

IN
N

ER
 D

IM
EN

SI
O

N
S 

C
M

 
D

IM
EN

SI
O

N
I I

N
TE

R
N

E 
C

M

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 C

A
R

S 
KG

 
C

A
R

IC
O

 M
A

SS
IM

O
 P

ER
 A

U
TO

 K
G

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 M

O
TO

R
 H

O
M

ES
 K

G
 

C
A

R
IC

O
 M

A
SS

IM
O

  P
ER

 C
A

M
PE

R
 K

G

W
EI

G
H

T 
KG

 
PE

SO
 K

G

FI
X

IN
G

 S
YS

TE
M

: S
TA

N
D

A
R

D
 U

 B
O

LT
 F

IT
TI

N
G

SI
ST

EM
A

 D
I F

IS
SA

G
G

IO
:  

FI
SS

A
G

G
IO

 S
TA

N
D

A
R

D
 C

O
N

 C
AV

A
LL

O
TT

O
 A

 U

M
IN

/M
A

X
 D

IS
TA

N
C

E 
 B

ET
W

EE
N

 B
A

R
S 

C
M

 
D

IS
TA

N
ZA

 M
IN

/M
A

X
  T

R
A

 L
E 

BA
R

R
E 

C
M

C
EN

TR
A

L 
LO

C
K

IN
G

 
C

H
IU

SU
R

A
 C

EN
TR

A
LI

ZZ
AT

A

D
O

U
B

LE
-S

ID
E 

O
PE

N
IN

G
 

D
O

PP
IA

 A
PE

RT
U

R
A

FI
X

IN
G

 B
EL

TS
 

C
IN

G
H

IE
 D

I F
IS

SA
G

G
IO

5
 Y

EA
R

S 
W

A
R

R
A

N
TY

 
G

A
R

A
N

ZI
A

 5
 A

N
N

I

TYPE N.25 480 190X80X42 182X74X37 75 75 14 ✓ 48,5/112,5 ✓ ✓ ✓ ✓

M
AT

TE
 G

R
EY

 
G

R
IG

IO
 G

O
FF

R
AT

O

M
ET

A
LL

IC
 G

R
EY

 
G

R
IG

IO
 M

ET
A

LL
IZ

ZA
TO

G
LO

SS
Y

 B
LA

C
K

 
N

ER
O

 L
U

C
ID

O

M
AT

TE
 B

LA
C

K
 

N
ER

O
 G

O
FF

R
AT

O

G
LO

SS
Y

 W
H

IT
E 

BI
A

N
C

O
 L

U
C

ID
O

TYPE N.25

RAYA



6766

KORAL

Double-side opening 
Doppia apertura

Compass opening
Apertura con compasso meccanico

Safety locking  system
Chiave antifurto

Three point centralized closure
 Chiusura centralizzata in tre punti

Quick fix
 Fissaggio rapido

THE NEW KORAL DESIGN, 
MODERN AND APPEALING, 

REDEFINES THE LINE OF YOUR CAR.
I L  N U O V O  D E S I G N  K O R A L , 

M O D E R N O  E D  A C C A T T I V A N T E , 
R I D E F I N I S C E  L A  L I N E A  D E L L A  T U A  A U T O .



6968

LI
TR

ES
 

LI
TR

I

O
U

TE
R

 D
IM

EN
SI

O
N

S 
C

M
 

D
IM

EN
SI

O
N

I E
ST

ER
N

E 
C

M

IN
N

ER
 D

IM
EN

SI
O

N
S 

C
M

 
D

IM
EN

SI
O

N
I I

N
TE

R
N

E 
C

M

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 C

A
R

S 
KG

 
C

A
R

IC
O

 M
A

SS
IM

O
 P

ER
 A

U
TO

 K
G

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 M

O
TO

R
 H

O
M

ES
 K

G
 

C
A

R
IC

O
 M

A
SS

IM
O

  P
ER

 C
A

M
PE

R
 K

G

W
EI

G
H

T 
KG

 
PE

SO
 K

G

FI
X

IN
G

 S
YS

TE
M

: F
A

R
A

D
 Q

U
IC

K
 F

IX
 

SI
ST

EM
A

 D
I F

IS
SA

G
G

IO
: F

A
R

A
D

 Q
U

IC
K 

FI
X

M
IN

/M
A

X
 D

IS
TA

N
C

E 
 B

ET
W

EE
N

 B
A

R
S 

C
M

 
D

IS
TA

N
ZA

 M
IN

/M
A

X
  T

R
A

 L
E 

BA
R

R
E 

C
M

C
EN

TR
A

L 
LO

C
K

IN
G

 
C

H
IU

SU
R

A
 C

EN
TR

A
LI

ZZ
AT

A

D
O

U
B

LE
-S

ID
E 

O
PE

N
IN

G
 

D
O

PP
IA

 A
PE

RT
U

R
A

FI
X

IN
G

 B
EL

TS
 

C
IN

G
H

IE
 D

I F
IS

SA
G

G
IO

5
 Y

EA
R

S 
W

A
R

R
A

N
TY

G
A

R
A

N
ZI

A
 5

 A
N

N
I

TYPE N.19 400 160X80X40 153X58 75 90 12 ✓ 36/ 94 ✓ ✓ ✓ ✓

TYPE N.20 480 190X80X40 182X72 75 90 14 ✓ 30 / 87 ✓ ✓ ✓ ✓

TYPE N.21 630 210X90X42 196X83 75 90 18 ✓ 39 / 99 ✓ ✓ ✓ ✓

TYPE N.23 400 145X95X43 135X86 75 90 15 ✓ 23 / 80 ✓ ✓ ✓ ✓

KORAL

M
AT

TE
 G

R
EY

 
G

R
IG

IO
 G

O
FF

R
AT

O

M
ET

A
LL

IC
 G

R
EY

 
G

R
IG

IO
 M

ET
A

LL
IZ

ZA
TO

G
LO

SS
Y

 B
LA

C
K

 
N

ER
O

 L
U

C
ID

O

M
AT

TE
 B

LA
C

K
 

N
ER

O
 G

O
FF

R
AT

O

G
LO

SS
Y

 W
H

IT
E 

BI
A

N
C

O
 L

U
C

ID
O

TYPE N.19

TYPE N.20

TYPE N.21

TYPE N.23



7170

MARLIN

Double-side opening 
Doppia apertura

Compass opening
Apertura con compasso meccanico

Safety locking  system
Chiave antifurto

Three point centralized closure
 Chiusura centralizzata in tre punti

Quick fix
 Fissaggio rapido

FARAD MARLIN LINE 
WITH ITS MODERN AND AERODYNAMIC 

STYLE ALLOWS YOU 
TO TRAVEL WITH ELEGANCE.

L O  S T I L E  M A R L I N , 
C O N  I L  S U O  D E S I G N  M O D E R N O  E D  A E R O D I N A M I C O ,

V I  A C C O M P A G N A  C O N  E L E G A N Z A 
I N  O G N I  V O S T R O  V I A G G I O .



7372

LI
TR

ES
 

LI
TR

I

O
U

TE
R

 D
IM

EN
SI

O
N

S 
C

M
 

D
IM

EN
SI

O
N

I E
ST

ER
N

E 
C

M

IN
N

ER
 D

IM
EN

SI
O

N
S 

C
M

 
D

IM
EN

SI
O

N
I I

N
TE

R
N

E 
C

M

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 C

A
R

S 
KG

 
C

A
R

IC
O

 M
A

SS
IM

O
 P

ER
 A

U
TO

 K
G

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 M

O
TO

R
 H

O
M

ES
 K

G
 

C
A

R
IC

O
 M

A
SS

IM
O

  P
ER

 C
A

M
PE

R
 K

G

W
EI

G
H

T 
KG

 
PE

SO
 K

G

FI
X

IN
G

 S
YS

TE
M

: F
A

R
A

D
 Q

U
IC

K
 F

IX
 

SI
ST

EM
A

 D
I F

IS
SA

G
G

IO
: F

A
R

A
D

 Q
U

IC
K 

FI
X

M
IN

/M
A

X
 D

IS
TA

N
C

E 
 B

ET
W

EE
N

 B
A

R
S 

C
M

 
D

IS
TA

N
ZA

 M
IN

/M
A

X
  T

R
A

 L
E 

BA
R

R
E 

C
M

C
EN

TR
A

L 
LO

C
K

IN
G

 
C

H
IU

SU
R

A
 C

EN
TR

A
LI

ZZ
AT

A

D
O

U
B

LE
-S

ID
E 

O
PE

N
IN

G
 

D
O

PP
IA

 A
PE

RT
U

R
A

FI
X

IN
G

 B
EL

TS
 

C
IN

G
H

IE
 D

I F
IS

SA
G

G
IO

5
 Y

EA
R

S 
W

A
R

R
A

N
TY

 
G

A
R

A
N

ZI
A

 5
 A

N
N

I
TYPE N.6 480 190X80X40 184X73 75 90 15 ✓ 39 / 95 ✓ ✓ ✓ ✓

TYPE N.7 680 210X100X42 198X92 75 90 21 ✓ 55 / 110 ✓ ✓ ✓ ✓

TYPE N.8 400 160X80X40 154X73 75 90 13 ✓ 20 / 77 ✓ ✓ ✓ ✓

TYPE N.11 530 225X80X42 215X70 75 90 18 ✓ 52 / 108 ✓ ✓ ✓ ✓

MARLIN

M
AT

TE
 G

R
EY

 
G

R
IG

IO
 G

O
FF

R
AT

O

M
ET

A
LL

IC
 G

R
EY

 
G

R
IG

IO
 M

ET
A

LL
IZ

ZA
TO

G
LO

SS
Y

 B
LA

C
K

 
N

ER
O

 L
U

C
ID

O

M
AT

TE
 B

LA
C

K
 

N
ER

O
 G

O
FF

R
AT

O

G
LO

SS
Y

 W
H

IT
E 

BI
A

N
C

O
 L

U
C

ID
O

TYPE N.6

TYPE N.7

TYPE N.8

TYPE N.11



7574

DORY

Double-side opening 
Doppia apertura

Compass opening
Apertura con compasso meccanico

Safety locking  system
Chiave antifurto

Three point centralized closure
 Chiusura centralizzata in tre punti

Standard U bolt fitting
 Fissaggio standard con cavallotto a U

THE PERFECT 
TRAVEL COMPANION 

FOR YOUR NEW ADVENTURES.
I L  C O M P A G N O  D I  V I A G G I O  I D E A L E 

P E R  L E  T U E  N U O V E  A V V E N T U R E .



7776

LI
TR

ES
 

LI
TR

I

O
U

TE
R

 D
IM

EN
SI

O
N

S 
C

M
 

D
IM

EN
SI

O
N

I E
ST

ER
N

E 
C

M

IN
N

ER
 D

IM
EN

SI
O

N
S 

C
M

 
D

IM
EN

SI
O

N
I I

N
TE

R
N

E 
C

M

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 C

A
R

S 
KG

 
C

A
R

IC
O

 M
A

SS
IM

O
 P

ER
 A

U
TO

 K
G

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 M

O
TO

R
 H

O
M

ES
 K

G
 

C
A

R
IC

O
 M

A
SS

IM
O

  P
ER

 C
A

M
PE

R
 K

G

W
EI

G
H

T 
KG

 
PE

SO
 K

G

FI
X

IN
G

 S
YS

TE
M

: S
TA

N
D

A
R

D
 U

 B
O

LT
 F

IT
TI

N
G

SI
ST

EM
A

 D
I F

IS
SA

G
G

IO
:  

FI
SS

A
G

G
IO

 S
TA

N
D

A
R

D
 C

O
N

 C
AV

A
LL

O
TT

O
 A

 U

M
IN

/M
A

X
 D

IS
TA

N
C

E 
 B

ET
W

EE
N

 B
A

R
S 

C
M

 
D

IS
TA

N
ZA

 M
IN

/M
A

X
  T

R
A

 L
E 

BA
R

R
E 

C
M

C
EN

TR
A

L 
LO

C
K

IN
G

 
C

H
IU

SU
R

A
 C

EN
TR

A
LI

ZZ
AT

A

D
O

U
B

LE
-S

ID
E 

O
PE

N
IN

G
 

D
O

PP
IA

 A
PE

RT
U

R
A

FI
X

IN
G

 B
EL

TS
 

C
IN

G
H

IE
 D

I F
IS

SA
G

G
IO

5
 Y

EA
R

S 
W

A
R

R
A

N
TY

 
G

A
R

A
N

ZI
A

 5
 A

N
N

I

TYPE N.22-1 340 140X75X39 134X69 75 90 12 ✓ 41 / 71 ✓ ✓ ✓ ✓

M
AT

TE
 G

R
EY

 
G

R
IG

IO
 G

O
FF

R
AT

O

M
ET

A
LL

IC
 G

R
EY

 
G

R
IG

IO
 M

ET
A

LL
IZ

ZA
TO

G
LO

SS
Y

 B
LA

C
K

 
N

ER
O

 L
U

C
ID

O

M
AT

TE
 B

LA
C

K
 

N
ER

O
 G

O
FF

R
AT

O

G
LO

SS
Y

 W
H

IT
E 

BI
A

N
C

O
 L

U
C

ID
O

TYPE N.22-1

DORY



7978

CRUB

Double-side opening 
Doppia apertura

Compass opening
Apertura con compasso meccanico

Safety locking  system
Chiave antifurto

Three point centralized closure
 Chiusura centralizzata in tre punti

Standard U bolt fitting
 Fissaggio standard con cavallotto a U

FARAD CRUB COMBINES 
EASY MOUNTING 

WITH THE SMART, MODERN 
AND COMPACT DESIGN.

L O  S T I L E  C R U B  D E L  B A U L E  F A R A D , 
U N I S C E  L A  P R A T I C I T À  D E L  M O N T A G G I O 

A L L’ A S P E T T O  S M A R T , 
M O D E R N O  E  C O M P A T T O .



8180

LI
TR

ES
 

LI
TR

I

O
U

TE
R

 D
IM

EN
SI

O
N

S 
C

M
 

D
IM

EN
SI

O
N

I E
ST

ER
N

E 
C

M

IN
N

ER
 D

IM
EN

SI
O

N
S 

C
M

 
D

IM
EN

SI
O

N
I I

N
TE

R
N

E 
C

M

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 C

A
R

S 
KG

 
C

A
R

IC
O

 M
A

SS
IM

O
 P

ER
 A

U
TO

 K
G

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 M

O
TO

R
 H

O
M

ES
 K

G
 

C
A

R
IC

O
 M

A
SS

IM
O

  P
ER

 C
A

M
PE

R
 K

G

W
EI

G
H

T 
KG

 
PE

SO
 K

G

FI
X

IN
G

 S
YS

TE
M

: S
TA

N
D

A
R

D
 U

 B
O

LT
 F

IT
TI

N
G

SI
ST

EM
A

 D
I F

IS
SA

G
G

IO
:  

FI
SS

A
G

G
IO

 S
TA

N
D

A
R

D
 C

O
N

 C
AV

A
LL

O
TT

O
 A

 U

M
IN

/M
A

X
 D

IS
TA

N
C

E 
 B

ET
W

EE
N

 B
A

R
S 

C
M

 
D

IS
TA

N
ZA

 M
IN

/M
A

X
  T

R
A

 L
E 

BA
R

R
E 

C
M

C
EN

TR
A

L 
LO

C
K

IN
G

 
C

H
IU

SU
R

A
 C

EN
TR

A
LI

ZZ
AT

A

D
O

U
B

LE
-S

ID
E 

O
PE

N
IN

G
 

D
O

PP
IA

 A
PE

RT
U

R
A

FI
X

IN
G

 B
EL

TS
 

C
IN

G
H

IE
 D

I F
IS

SA
G

G
IO

5
 Y

EA
R

S 
W

A
R

R
A

N
TY

 
G

A
R

A
N

ZI
A

 5
 A

N
N

I

TYPE N.18 430 180X78X40 172X73 75 90 14 ✓ 48 / 95 ✓ ✓ ✓ ✓

M
AT

TE
 G

R
EY

 
G

R
IG

IO
 G

O
FF

R
AT

O

M
ET

A
LL

IC
 G

R
EY

 
G

R
IG

IO
 M

ET
A

LL
IZ

ZA
TO

G
LO

SS
Y

 B
LA

C
K

 
N

ER
O

 L
U

C
ID

O

M
AT

TE
 B

LA
C

K
 

N
ER

O
 G

O
FF

R
AT

O

G
LO

SS
Y

 W
H

IT
E 

BI
A

N
C

O
 L

U
C

ID
O

TYPE N.18

CRUB



8382

TORPEDO

Double-side opening 
Doppia apertura

Compass opening
Apertura con compasso meccanico

Safety locking  system
Chiave antifurto

Three point centralized closure
 Chiusura centralizzata in tre punti

Standard U bolt fitting
 Fissaggio standard con cavallotto a U

 FARAD TORPEDO, 
THANKS TO ITS SIMPLE WIDE DESIGN, 

IT’S A PRACTICAL SOLUTION 
FOR THE WHOLE FAMILY.

L O  S T I L E  T O R P E D O  D E I  B A U L I  F A R A D , 
C O N  I L  S U O  D E S I G N  S O B R I O 

E  S P A Z I O S O ,  È  U N A  S O L U Z I O N E  P R A T I C A 
P E R  T U T T A  L A  F A M I G L I A .



8584

LI
TR

ES
 

LI
TR

I

O
U

TE
R

 D
IM

EN
SI

O
N

S 
C

M
 

D
IM

EN
SI

O
N

I E
ST

ER
N

E 
C

M

IN
N

ER
 D

IM
EN

SI
O

N
S 

C
M

 
D

IM
EN

SI
O

N
I I

N
TE

R
N

E 
C

M

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 C

A
R

S 
KG

 
C

A
R

IC
O

 M
A

SS
IM

O
 P

ER
 A

U
TO

 K
G

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 M

O
TO

R
 H

O
M

ES
 K

G
 

C
A

R
IC

O
 M

A
SS

IM
O

  P
ER

 C
A

M
PE

R
 K

G

W
EI

G
H

T 
KG

 
PE

SO
 K

G

FI
X

IN
G

 S
YS

TE
M

: S
TA

N
D

A
R

D
 U

 B
O

LT
 F

IT
TI

N
G

SI
ST

EM
A

 D
I F

IS
SA

G
G

IO
:  

FI
SS

A
G

G
IO

 S
TA

N
D

A
R

D
 C

O
N

 C
AV

A
LL

O
TT

O
 A

 U

M
IN

/M
A

X
 D

IS
TA

N
C

E 
 B

ET
W

EE
N

 B
A

R
S 

C
M

 
D

IS
TA

N
ZA

 M
IN

/M
A

X
  T

R
A

 L
E 

BA
R

R
E 

C
M

C
EN

TR
A

L 
LO

C
K

IN
G

 
C

H
IU

SU
R

A
 C

EN
TR

A
LI

ZZ
AT

A

D
O

U
B

LE
-S

ID
E 

O
PE

N
IN

G
 

D
O

PP
IA

 A
PE

RT
U

R
A

FI
X

IN
G

 B
EL

TS
 

C
IN

G
H

IE
 D

I F
IS

SA
G

G
IO

5
 Y

EA
R

S 
W

A
R

R
A

N
TY

 
G

A
R

A
N

ZI
A

 5
 A

N
N

I

TYPE N.9 400 160X80X40 154X73 75 90 13 ✓ 25 / 83 ✓ ✓ ✓ ✓

M
AT

TE
 G

R
EY

 
G

R
IG

IO
 G

O
FF

R
AT

O

M
ET

A
LL

IC
 G

R
EY

 
G

R
IG

IO
 M

ET
A

LL
IZ

ZA
TO

G
LO

SS
Y

 B
LA

C
K

 
N

ER
O

 L
U

C
ID

O

M
AT

TE
 B

LA
C

K
 

N
ER

O
 G

O
FF

R
AT

O

G
LO

SS
Y

 W
H

IT
E 

BI
A

N
C

O
 L

U
C

ID
O

TYPE N.9

TORPEDO



8786

MAKI+ZIPPY

Double-side opening 
Doppia apertura

Compass opening
Apertura con compasso meccanico

Safety locking  system
Chiave antifurto

Three point centralized closure
 Chiusura centralizzata in tre punti

Standard U bolt fitting
 Fissaggio standard con cavallotto a U

DISCOVER THE FREEDOM OF TAKING 
EVERYTHING WITH YOU IN AN ORGANIZED 

AND SECURE WAY. WITH THE NEW TOWBAR 
CARGO CARRIER MAKI, MOUNTED 

ON THE ZIPPY PLATFORM, EVERY TRIP 
BECOMES A WORRY-FREE PLEASURE!
S C O P R I  L A  L I B E R T À  D I  P O R T A R E  T U T T O  C O N  T E 

I N  M O D O  O R D I N A T O  E  S I C U R O .  C O N  I L  B O X  D A  G A N C I O 
T R A I N O  M A K I ,  M O N T A T O  S U L L A  P I A T T A F O R M A  Z I P P Y, 

O G N I  V I A G G I O  D I V E N T A  U N  P I A C E R E  S E N Z A  P E N S I E R I !

The towbar cargo carrier Maki is 
mountable on the towbar bike rack Susa

 Il box Maki è compatibile
con il portabici da gancio traino Susa



8988

LI
TR

ES
 

LI
TR

I

O
U

TE
R

 D
IM

EN
SI

O
N

S 
C

M
 

D
IM

EN
SI

O
N

I E
ST

ER
N

E 
C

M

IN
N

ER
 D

IM
EN

SI
O

N
S 

C
M

 

D
IM

EN
SI

O
N

I I
N

TE
R

N
E 

C
M

M
A

X
IM

U
M

 L
O

A
D

 F
O

R
 C

A
R

S 
KG

C
A

R
IC

O
 M

A
SS

IM
O

 P
ER

 A
U

TO
 K

G

M
A

X
IM

U
M

 L
O

A
D

 
FO

R
 M

O
TO

R
 H

O
M

ES
 K

G
 

C
A

R
IC

O
 M

A
SS

IM
O

  
PE

R
 C

A
M

PE
R

 K
G

W
EI

G
H

T 
KG

 

PE
SO

 K
G

FI
X

IN
G

 S
YS

TE
M

:  
ST

A
N

D
A

R
D

 U
 B

O
LT

 F
IT

TI
N

G
 

SI
ST

EM
A

 D
I F

IS
SA

G
G

IO
: F

IS
SA

G
G

IO
  

ST
A

N
D

A
R

D
 C

O
N

 C
AV

A
LL

O
TT

O
 A

 U

D
IS

TA
N

C
E 

B
ET

W
EE

N
 

TH
E 

FA
ST

EN
ER

S
D

IS
TA

N
ZA

 T
R

A
 I 

FI
SS

A
G

G
I

C
EN

TR
A

L 
LO

C
K

IN
G

 

C
H

IU
SU

R
A

 C
EN

TR
A

LI
ZZ

AT
A

D
O

U
B

LE
-S

ID
E 

O
PE

N
IN

G

D
O

PP
IA

 A
PE

RT
U

R
A

FI
X

IN
G

 B
EL

TS
 

C
IN

G
H

IE
 D

I F
IS

SA
G

G
IO

5
 Y

EA
R

S 
W

A
R

R
A

N
TY

 

G
A

R
A

N
ZI

A
 5

 A
N

N
I

TYPE N.26 300 132X59X47 126X52X46 50 50 10 ✓ 44X36 ✓ ✓ ✓ ✓

M
AT

TE
 G

R
EY

 
G

R
IG

IO
 

G
O

FF
R

AT
O

M
ET

A
LL

IC
 G

R
EY

 
G

R
IG

IO
 

M
ET

A
LL

IZ
ZA

TO

G
LO

SS
Y

 B
LA

C
K

 
N

ER
O

 L
U

C
ID

O

M
AT

TE
 B

LA
C

K
 

N
ER

O
 G

O
FF

R
AT

O

G
LO

SS
Y

 W
H

IT
E 

BI
A

N
C

O
 L

U
C

ID
O

TYPE N.26

MAKI

ZIPPY
max 60Kg

ZIPPY IS THE PERFECT ACCESSORY 
TO FIX SAFELY AND EASILY MAKI BOX 
ON THE TOWBAR.
L O  Z I P P Y  È  L’ A C C E S S O R I O  P E R F E T T O 
P E R  M O N T A R E  I L  B O X  M A K I  S U L  G A N C I O  T R A I N O 
I N  S I C U R E Z Z A  E  F A C I L I T À .



9190

ACCESSORIES

FARAD SKI
FAST AND EASY TO FIT, THE SKI RACK KEEPS 
YOUR SKIS SAFER IN THE BOX. 

SEMPLICE E PRATICO DA MONTARE, 
ASSICURA I VOSTRI SCI ALL’INTERNO DEL BOX.

FARAD HOLDER
SUITABLE FOR ALL FARAD ROOF BOXES, 
IT’S AN IDEAL SOLUTION FOR LIMITED SPACE.

ADATTABILE AD OGNI BAULE FARAD 
È LA SOLUZIONE IDEALE PER CHI HA PROBLEMI DI SPAZIO.

FARAD T-JOINT
THE T-ADAPTER IS SUITABLE FOR ALL FARAD ROOF BARS 
AND IT ALLOWS A SAFER FITTING OF THE ROOF BOX.

ADATTO A TUTTE LE BARRE FARAD PER 
UN FISSAGGIO PIÙ SICURO DEL VOSTRO BOX. 

T-adaptor

x4

Kit for T-adaptor

x4x4

x4

FARAD FAST FIX
THE FITTING SYSTEM FOR A FAST ASSEMBLY 
AND DISASSEMBLY OF YOUR FARADBOX.

SISTEMA PER MONTARE E SMONTARE 
RAPIDAMENTE IL VOSTRO FARADBOX.

Compatible with Dory, Torpedo and Crub
Compatibile con Dory, Torpedo e Crub

FARAD QUICK FIX
THE FITTING SYSTEM FOR A FAST ASSEMBLY 
AND DISASSEMBLY OF YOUR FARADBOX.

SISTEMA PER MONTARE E SMONTARE 
RAPIDAMENTE IL VOSTRO FARADBOX.

FARAD WIND SPOILER NOISE
SPOILER TO REDUCE WIND NOISE.

SPOILER PER RIDURRE IL RUMORE DEL VENTO.



L I V E  YO U R  L O V E  O F  S P O R T 
A N D  S E T  O F F  O N  A N  A D V E N T U R E
W I T H  T H E  FA R A D  B I K E  R A C K  T H AT  S U I T S  YO U  B E S T.  
T H E  M U S T- H AV E  A C C E S S O R Y  F O R  A LWAY S  TA K I N G 
YO U R  FAV O U R I T E  T W O - W H E E L E D  T R AV E L L I N G 
C O M PA N I O N  W I T H  YO U .

E S A L T A  L A  T U A  V O G L I A  D I  S P O R T  E  P A R T I  A L L’ A V V E N T U R A 

C O N  I L  P O R T A B I C I  F A R A D  P I Ù  A D A T T O  A L L E  T U E  E S I G E N Z E .

L’ A C C E S S O R I O  I N D I S P E N S A B I L E  P E R  P O R T A R E  S E M P R E  C O N  T E 

L A  T U A  C O M P A G N A  A  D U E  R U O T E  P R E F E R I T A .

B I KE  RACKS
P O R T A B I C I

B I KE  RACKS
P O R T A B I C I

B I KE  RACKS
P O R T A B I C I

B I KE  RACKS
P O R T A B I C I

B I KE  RACKS
P O R T A B I C I

B I KE  RACKS
P O R T A B I C I

B I KE  RACKS
P O R T A B I C I



9594

MAIRA
The universal bike rack that can be adapted 
to any type of roof rails f ixed manually, 
thef t-proof keys and top-quality materials 
for rapid assembly and maximum security for your bike.
I l  p o r t a b i c i  d a  t e t t o  u n i v e r s a l e  a d a t t a b i l e  a d  o g n i  t i p o  d i  b a r r a  p o r t a t u t t o .
F i s s a g g i o  m a n u a l e ,  c h i a v i  a n t i f u r t o  e  m a t e r i a l i  d i  p r i m a  s c e l t a  a s s i c u r a n o 
u n  m o n t a g g i o  r a p i d o  e  l a  m a s s i m a  s i c u r e z z a  p e r  l a  t u a  b i c i c l e t t a .

min 25mm / 0.98”
max 75mm / 3.0”

max 75x100 / 
3.0”x3.9”

min 12”
max 29”

min 23mm
max 114mm (4.5”)

max 1350mm max 25Kg

U-bolt fitting 
Attacco con cavallotto

“T” fitting
attacco a “T”

Optional / Opzionale

Mountable both right and left
Montabile sia a DX che a SX

Suitable for all wheel sizes
Adatto a tutte le dimensioni di ruota

Anti-theft key
Chiave antifurto

Pre-assembled / No tools necessary
 Premontato / No utensili necessari

< 4cm need “T” fitting  
< 4 cm necessità di attacco a “T”

< 4cm



9796

PESIO
Universal and versatile.  Compatible with any type of bar,  
ensures that you can f it  and take down your bike easily  
and completely safely thanks to the quick f it  to the frame.  
Also for e-bikes.
U n i v e r s a l e  e  v e r s a t i l e .  C o m p a t i b i l e  a d  o g n i  t i p o  d i  b a r r a ,  g a r a n t i s c e  
c o n  s e m p l i c i t à  i l  m o n t a g g i o  e  l o  s m o n t a g g i o  d e l l a  t u a  b i c i c l e t t a  i n  c o m p l e t a 
s i c u r e z z a  g r a z i e  a l l ’ a t t a c c o  r a p i d o  a  t e l a i o .  A n c h e  p e r  e - b i k e .

min 25mm / 0.98”
max 100mm / 3.9”

max 90x100 / 
3.5”x3.9”

min 12”
max 29”

min 23mm
max 114mm (4.5”)

max 1350mm max 25Kg

“T” fitting
Attacco con fissaggio a “T”

U-bolt fitting for IRON or IRONQUADRA bars
attacco con cavallotto per barre 

IRON o IRONQUADRA

Optional / Opzionale

Mountable both right and left
Montabile sia a DX che a SX

Suitable for all wheel sizes
Adatto a tutte le dimensioni di ruota

Anti-theft key
Chiave antifurto

Pre-assembled / No tools necessary
 Premontato / No utensili necessari



9998

VARAITA
Compact and lightweight towbar bike rack, 
quick and easy  to install  on your towbar.
Available for 1 or 2 bikes.  Load capacity:  30 kg.
Pre- assembled, tool-free installation and removal .
P o r t a b i c i  d a  g a n c i o  t r a i n o  c o m p a t t o  e  l e g g e r o 
c h e  s i  f i s s a  a l  g a n c i o  t r a i n o  i n  p o c h i  s e c o n d i .
D i s p o n i b i l e  p e r    1  o  2  b i c i .  C a p a c i t à  d i  c a r i c o :  3 0  k g .
G i à  a s s e m b l a t o  n o n  o c c o r r o n o  u t e n s i l i .

ALL ALL
min 12”
max 29”

ALL ALL max 30Kg

X 2

Suitable for all wheel sizes
Adatto a tutte le dimensioni di ruota

Distance between the arms 50 cm
Distanza tra le braccia 50 cm

Pre-assembled / No tools necessary
 Premontato / No utensili necessari

C O N  P O R T A T A R G A
WITH LICENSE PLATE HOLDER

C O N  P O R T A T A R G A  +  F A N A L I
WITH LICENSE PLATE HOLDER + LIGHTS



101100

SUSA
Compact and lightweight towbar bike rack, per fect for carr ying 
2 or 3 bikes with a load capacity of up to 60 kg. Quick and easy 
installation directly onto your towbar.  Pre-assembled and ready 
for your cycling adventures. .
P o r t a  b i c i  d a  g a n c i o  t r a i n o  c o m p a t t o  e  l e g g e r o ,  p e r f e t t o  p e r  t r a s p o r t a r e  2  o  3  b i c i 
c o n  u n a  c a p a c i t à  d i  c a r i c o  f i n o  a  6 0  k g .  I n s t a l l a z i o n e  r a p i d a  e  s e m p l i c e  d i r e t t a m e n t e 
s u l  t u o  g a n c i o  t r a i n o .  P r e - a s s e m b l a t o  e  p r o n t o  a l l ’ u s o  p e r  l e  t u e  a v v e n t u r e  s u  d u e  r u o t e .

min 20 max 50
min 12”
max 29”

ALL max 1300mm max 60Kg

X 2 / X 3

Access to the trunk compartment
Accesso vano baule

Bike maintenance
Manutenzione bici

Foldable for storage
Richiudibile per stoccaggio

Safe- spacing vertical overturning for parking 
Ribaltamento verticale salva spazio per parcheggio

X  3  B I C I
X 3 BIKES

X  2  B I C I
X 2 BIKES

The towbar cargo carrier Maki is 
mountable on the towbar bike rack Susa

 Il box Maki è compatibile
con il portabici da gancio traino Susa



T H E  N E W  B I - C O L O R   L I N E :
W I T H  O V E R  4 0  AVA I L A B L E  D E S I G N S 
A N D  3 0  Y E A R S  E X P E R I E N C E 
I N  T H E  M A R K E T,  FA R A D  I S  F U R T H E R  W I D E N I N G 
A N D  E M B E L L I S H I N G  I T S  VA S T  P R O D U C T  R A N G E 
W I T H  T H E  N E W  F R E E W H E E L I N G  L I N E . 
N E W LY  D E S I G N E D  W H E E L  T R I M S ,  W H I C H , 
T H A N K S  T O  A  W I D E  C H O I C E  O F  C O L O U R E D  I N S E R T S , 
A L L O W  C U S T O M E R S  T O  E A S I LY  P E R S O N A L I Z E 
T H E I R  W H E E L S  A N D  T H E I R  C A R .

L A  N U O V A  L I N E A  B I C O L O R E

S U L  M E R C A T O  D A  O L T R E  3 0  A N N I  C O N  4 0  D E S I G N  D I S P O N I B I L I , 

F A R A D  A M P L I A  E  I M P R E Z I O S I S C E  L A  S U A  G A M M A , 

G I À  U N A  D E L L E  P I U ’  V A S T E  S U L  M E R C A T O .

C O N  L A  N U O V A  L I N E A  A  R U O T A  L I B E R A ,  D A L  D E S I G N  I N N O V A T I V O , 

G R A Z I E  A D  U N A  V A S T A  S C E L T A  D I  I N S E R T I  C O L O R A T I ,  F A R A D  O F F R E  A L  C L I E N T E 

L A  P O S S I B I L I T À  D I  P E R S O N A L I Z Z A R E  L’ A S P E T T O  D E L L E  P R O P R I E  R U O T E , 

E  Q U I N D I  D E L L E  P R O P R I E  A U T O ,  I N  P O C H I  M I N U T I  E  T U T T E  L E  V O L T E  C H E  V U O L E .

B I -COLOR  WHEEL  COVERS 
“FREEWHEELI NG”

C O P R I C E R C H I  B I C O L O R E  “ A  R U O T A  L I B E R A ”

B I -COLOR  WHEEL  COVERS 
“FREEWHEELI NG”

C O P R I C E R C H I  B I C O L O R E  “ A  R U O T A  L I B E R A ”

B I -COLOR  WHEEL  COVERS 
“FREEWHEELI NG”

C O P R I C E R C H I  B I C O L O R E  “ A  R U O T A  L I B E R A ”

B I -COLOR  WHEEL  COVERS 
“FREEWHEELI NG”

C O P R I C E R C H I  B I C O L O R E  “ A  R U O T A  L I B E R A ”

B I -COLOR  WHEEL  COVERS 
“FREEWHEELI NG”

C O P R I C E R C H I  B I C O L O R E  “ A  R U O T A  L I B E R A ”

B I -COLOR  WHEEL  COVERS 
“FREEWHEELI NG”

C O P R I C E R C H I  B I C O L O R E  “ A  R U O T A  L I B E R A ”



105104

PREASSEMBLED BI-COLOR

ALREADY MOUNTED!
Farad has selected for you the bi-color wheel-trims   

Ar t.  243 packed in 1 box of 4 pieces.

G I À  M O N T A T E !
F a r a d  h a  s e l e z i o n a t o  p e r  t e  l e  c o p p e  b i c o l o r   

A r t .  2 4 3  i m b a l l o  i n  s c a t o l a  d i  4  p e z z i .

243 GREY /  DARK GREY
14” 15”  16”

2 4 3  C H A R COA L  G R E Y  /  B L AC K
1 4 ”  1 5 ”  1 6 ”

243 MATTE BLACK /  WHITE 
14”  15”  16”

NEW CHARCOAL GREY FINISHING

MATERIALS & FEATURES 

As all  Farad products,  wheeltrims are manufactured in Italy 
according to ISO 9001 quality rules and thoroughly  checked during 
all  production stages to guarantee the highest quality standard.

Wheel trims are made in PA66 M20 + PP, a f irst choice material , 
to provide a product which is both resistant to brakes temperatures 
and f lexible in case of coll ision.

A double coat of water paint, f inished by a glossy metallic layer which, 
not only results in an elegant product but guarantees also the paint’s 
resistance in line with OEM specif ications.

The wheel trims are f ixed by a metall ic r ing and tested for suitabil ity 
to most of car wheels,  following OEM requirements.

C o m e  t u t t i  i  p r o d o t t i  F A R A D ,  i  c o p r i c e r c h i  s o n o  p r o d o t t i  i n  I t a l i a  r i s p e t t a n d o  t u t t i  i  c r i t e r i 
I S O  9 0 0 1  e  v e n g o n o  c o n t r o l l a t i  a l  1 0 0 %  a d  o g n i  p a s s a g g i o  d e l l a  l a v o r a z i o n e  p e r  o t t e n e r e 
s t a n d a r d  d i  q u a l i t à  e s t r e m a m e n t e  e l e v a t i .

P r o d o t t i  i n  m a t e r i a l e  d i  p r i m a  s c e l t a ,  P a 6 6  M 2 0  +  P P,  p e r  o t t e n e r e  u n  p r o d o t t o 
r e s i s t e n t e  a l l a  t e m p e r a t u r a  d e i  f r e n i  m a  a l l o  s t e s s o  t e m p o  f l e s s i b i l e  a g l i  u r t i .

D o p p i a  m a n o  d i  v e r n i c e  a l l ’ a c q u a  r i v e s t i t a  d a  u n o  s t r a t o  d i  m e t a l l i z z a t o  l u c i d o  c h e , 
o l t r e  a d  o f f r i r e  u n  p r o d o t t o  l u c e n t e  e d  e l e g a n t e ,  f o r n i s c e  u n a  t e n u t a  d e l l a  v e r n i c e 
s u l  c o p r i c e r c h i o  s e c o n d o  s p e c i f i c h e  O E M .

F i s s a t i  a l l a  r u o t a  t r a m i t e  a n e l l o  m e t a l l i c o ,  v e n g o n o  t e s t a t i  p e r  e s s e r e  c o m p a t i b i l i  c o n 
l a  m a g g i o r  p a r t e  d e l l e  r u o t e  a u t o  c o n  p r o v e  d i  t e n u t a  s e c o n d o  s p e c i f i c h e  O E M .

2 4 0 B  1 4 ”  1 5 ”  1 6 ” 
G L O S S Y  B L A C K 

2 4 1 B  1 4 ”  1 5 ”  1 6 ” 
G L O S S Y  B L A C K 

2 4 3 B  1 3 ”  1 4 ”  1 5 ”  1 6 ” 
G L O S S Y  B L A C K 

2 4 0 B M A T T E  1 4 ”  1 5 ”  1 6 ” 
M A T T E  B L A C K 

2 4 1 B M A T T E  1 4 ”  1 5 ”  1 6 ” 
M A T T E  B L A C K 

2 4 3 B M A T T E  1 3 ”  1 4 ”  1 5 ”  1 6 ” 
M A T T E  B L A C K 

2 4 0 G  1 4 ”  1 5 ”  1 6 ” 
G R E Y

2 4 1 G  1 4 ”  1 5 ”  1 6 ” 
G R E Y

2 4 3 G  1 3 ”  1 4 ”  1 5 ”  1 6 ” 
G R E Y



107106

240B 14” 15” 16” GLOSSY/MATTE BLACK

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
B L A C K

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  B L U E

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
W H I T E

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
R E D

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  G R E Y

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
B L U E

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  G R E Y

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
O R A N G E

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
V I O L E T

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
Y E L L O W

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
G R E E N

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  B L U E

240G 14” 15” 16” GREY

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
B L A C K

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  B L U E

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
W H I T E

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
R E D

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  G R E Y

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
B L U E

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  G R E Y

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
O R A N G E

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
V I O L E T

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
Y E L L O W

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
G R E E N

2 4 0 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  B L U E



109108

241B 14” 15” 16” GLOSSY/MATTE BLACK

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
B L A C K

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  B L U E

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
W H I T E

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
R E D

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  G R E Y

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
B L U E

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  G R E Y

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
O R A N G E

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
V I O L E T

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
Y E L L O W

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
G R E E N

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  B L U E

241G 14” 15” 16” GREY

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
B L A C K

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  B L U E

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
W H I T E

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
R E D

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  G R E Y

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
B L U E

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  G R E Y

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
O R A N G E

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
V I O L E T

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
Y E L L O W

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
G R E E N

2 4 1 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  B L U E



111110

243B 14” 15” 16” GLOSSY/MATTE BLACK

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
B L A C K

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  B L U E

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
W H I T E

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
R E D

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  G R E Y

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
B L U E

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  G R E Y

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
O R A N G E

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
V I O L E T

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
Y E L L O W

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
G R E E N

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  B L U E

243G 14” 15” 16” GREY

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
B L A C K

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  B L U E

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
W H I T E

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
R E D

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
D A R K  G R E Y

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
B L U E

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  G R E Y

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
O R A N G E

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
V I O L E T

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
Y E L L O W

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
G R E E N

2 4 3 I N S  1 4 ”  1 5 ”  1 6 ” 
L I G H T  B L U E



113112

INSERTS COLOURS ASSEMBLY INSTRUCTIONS
12 fantastic colours to be combined with your wheel cover.

1 2  f a n t a s t i c i  c o l o r i  d a  a b b i n a r e  a i  v o s t r i  c o p r i c e r c h i

2 4 0  G R E E N

2 4 0  O R A N G E

2 4 0  V I O L E T

2 4 0  W H I T E

2 4 0  R E D

2 4 0  D A R K  G R E Y

2 4 0  L I G T H  B L U E

2 4 0  B L A C K

2 4 0  L I G H T  G R E Y

2 4 0  D A R K  B L U E

2 4 0  Y E L L O W

2 4 0  B L U E

240 INS 14” 15” 16”

241 INS 14” 15” 16”

243 INS 14” 15” 16”

2 4 1  W H I T E

2 4 1  V I O L E T

2 4 1  O R A N G E

2 4 1  G R E E N

2 4 1  D A R K  G R E Y

2 4 1  R E D

2 4 1  B L A C K

2 4 1  L I G T H  B L U E

2 4 1  D A R K  B L U E

2 4 1  L I G H T  G R E Y

2 4 1  B L U E

2 4 1  Y E L L O W

2 4 3  W H I T E

2 4 3  V I O L E T

2 4 3  O R A N G E

2 4 3  G R E E N

2 4 3  D A R K  G R E Y

2 4 3  R E D

2 4 3  B L A C K

2 4 3  L I G T H  B L U E

2 4 3  D A R K  B L U E

2 4 3  L I G H T  G R E Y

2 4 3  B L U E

2 4 3  Y E L L O W

3 4

1

OK

NOK

2

5



W H E E L  C O V E R S
FAR AD HAS BEEN IN THE MARKET FOR MORE THAN 30 YEARS, WITH THE WIDEST R ANGE OF WHEEL TRIMS 

IN EU ROPE , ESTABLISHING AS ONE OF THE LEADERS . THE PRODUCTS ARE AVAIL ABLE IN 40 DIFFERENT 
PAT TERNS, FROM 12 TO 17 INCHES . WHEEL TRIMS ARE MAN U FACTU RED IN ITALY ACCORDING 
TO ISO 9001 QUALIT Y RU LES, AND CHECKED AFTER EVERY STEP OF PRODUCTION , 
IN ORDER TO OFFER A HIGH QUALIT Y STANDARD.

MATERIALS
WHEEL TRIMS ARE MADE WITH FIRST CHOICE MATERIALS, HENCE FAR AD CAN OFFER A PRODUCT 
BOTH RESISTANT TO BR AKES TEMPER ATU RE AND FLEXIBLE IN CASE OF COLLISION .

PAINTING 
DOU BLE L AYER OF WATER PAINT, COVERED BY A SHINY METALLIC L AYER , WHICH GUAR ANTEES A BRILLIANT 
PRODUCT AND A STRONG ADHESION OF THE PAINTING AS WELL , ACCORDING TO OEM REQU IREMENTS .

FIXING ON THE RIM 
WHEEL TRIMS ARE FIXED BY A METALLIC RING ; THEY ARE TESTED IN ORDER TO BE SU ITABLE 
TO MANY CAR WHEELS, HOLDING TESTS ACCORDING TO OEM REQU IREMENTS .

PARTNERSHIP 
FAR AD COOPER ATES WITH MANY CAR MAN U FACTU RERS TO REALIZE SPARE WHEEL TRIMS WITH MATERIALS 
AND COATINGS CHOSEN BY THE CUSTOMER ITSELF. 

C O P R I C E R C H I
F A R A D  È  P R E S E N T E  S U L  M E R C A T O  D A  P I Ù  D I  3 0  A N N I ,  C O N  U N A  D E L L E  P I Ù  A M P I E  G A M M E 

D I  C O P R I C E R C H I  I N  E U R O P A ,  P O N E N D O S I  C O M E  U N O  D E I  L E A D E R .  I  P R O D O T T I  S O N O 

D I S P O N I B I L I  I N  4 0  D I V E R S I  M O D E L L I ,  D A  1 2  A  1 7  P O L L I C I .

P R O D O T T I  I N  I T A L I A  S E G U E N D O  L E  S P E C I F I C H E  D I  Q U A L I T À  I S O  9 0 0 1  E  C O N T R O L L A T I  A L  1 0 0 % 

D O P O  O G N I  P A S S A G G I O  D I  L A V O R A Z I O N E  P E R  O T T E N E R E  U N  E L E V A T O  S T A N D A R D  D I  Q U A L I T À .

M A T E R I A L I 
P R O D O T T I  I N  M A T E R I A L E  D I  P R I M A  S C E LT A ,  P E R  O T T E N E R E  U N  P R O D O T T O  R E S I S T E N T E 

A L L A  T E M P E R A T U R A  D E I  F R E N I  M A  A L L O  S T E S S O  T E M P O  F L E S S I B I L E  A G L I  U R T I .

V E R N I C E 
D O P P I A  M A N O  D I  V E R N I C E  A L L’ A C Q U A  R I V E S T I T A  D A  U N O  S T R A T O  D I  M E T A L L I Z Z A T O  L U C I D O  C H E , 

O LT R E  A D  O F F R I R E  U N  P R O D O T T O  L U C E N T E  E D  E L E G A N T E ,  F O R N I S C E  U N A  T E N U T A 

D E L L A  V E R N I C E  S U L  C O P R I C E R C H I O  S E C O N D O  S P E C I F I C H E  O E M .

T E N U T A  S U L L A  R U O T A 
A G G R A P PAT I  S U L L A  R U O TA  T R A M I T E  A N E L L O  M E TA L L I C O ,  V E N G O N O  T E S TAT I  P E R  E S S E R E  C O M PAT I B I L I 

C O N  L A  M A G G I O R  P A R T E  D E L L E  R U O T E  A U T O  C O N  P R O V E  D I  T E N U T A  S E C O N D O  S P E C I F I C H E  O E M .

P A R T N E R S H I P 
F A R A D  C O L L A B O R A  C O N  N U M E R O S E  C A S E  A U T O M O B I L I S T I C H E  P E R  L A  R E A L I Z Z A Z I O N E 

D I  C O P R I C E R C H I  S P E C I F I C I  C O N  M A T E R I A L I  E  V E R N I C I  S E C O N D O  L E  N E C E S S I T A ’  D E L  C L I E N T E .

UN IVERSAL WHEEL  TRIMS
C O P R I C E R C H I  U N I V E R S A L I

UN IVERSAL WHEEL  TRIMS
C O P R I C E R C H I  U N I V E R S A L I

UN IVERSAL WHEEL  TRIMS
C O P R I C E R C H I  U N I V E R S A L I

UN IVERSAL WHEEL  TRIMS
C O P R I C E R C H I  U N I V E R S A L I

UN IVERSAL WHEEL  TRIMS
C O P R I C E R C H I  U N I V E R S A L I



117116

1 3 ”  1 4 ” 
P A R T  N R .  2 0 1  S I L V E R 

1 3 ”  1 4 ” 
P A R T  N R .  2 0 5  S I L V E R 

1 3 ”  1 4 ” 
P A R T  N R .  2 0 8  S I L V E R 

1 3 ”  1 4 ” 
P A R T  N R .  2 1 1  S I L V E R 

1 3 ”  1 4 ” 
P A R T  N R .  2 0 2  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 0 6  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 0 9  S I L V E R 

1 3 ”  1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 1 2  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 1 0  S I L V E R 

1 3 ”  1 4 ”  1 5 ”  1 6 ” 
PA R T  N R .  2 1 2  C H R O M E D  N U T S

1 2 ”  1 3 ”  1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 0 4  S I L V E R 

1 3 ” 
P A R T  N R .  2 0 7  S I L V E R 

UNIVERSAL WHEEL TRIMS

1 3 ” 
P A R T  N R .  2 1 3  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
PA R T  N R .  2 1 6  C H R O M E D  C A P

1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 1 9  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
PA R T  N R .  2 2 0  S I LV E R

1 2 ”  1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 1 4  S I L V E R 

1 3 ”  1 4 ” 
P A R T  N R .  2 1 7  S I L V E R

1 3 ”  1 4 ”  1 5 ” 
PA R T  N R .  2 1 9 C  S I LV E R 

1 3 ” 
P A R T  N R .  2 2 1  S I L V E R 

1 4 ” 
PA R T  N R .  2 1 9 C  C H R O M E D 

1 5 ” 
P A R T  N R .  2 2 2  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 1 6  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 1 8  S I L V E R 



119118

UNIVERSAL WHEEL TRIMS

1 3 ”  1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 2 4  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 2 6  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 2 9  S I L V E R 

1 3 ”  1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 3 2  S I L V E R 

1 5 ” 
P A R T  N R .  2 2 5  S I L V E R 

1 3 ”  1 4 ”  1 5 ” 
P A R T  N R .  2 2 7  S I L V E R 

1 3 ”  1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 3 0  S I L V E R 

1 3 ”  1 4 ”  1 5 ”  1 6 ”  1 7 ” 
PA R T  N R .  2 3 3  S I LV E R

1 6 ” 
P A R T  N R .  2 3 1  S I L V E R 

1 3 ”  1 4 ”  1 5 ”  1 6 ” 
PA R T  N R .  2 3 4  S I LV E R

1 5 ” 
P A R T  N R .  2 2 5  C H R O M E D 

1 3 ”  1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 2 8  S I L V E R

1 4 ”  1 5 ”  1 6 ” 
PA R T  N R .  2 3 5  S I LV E R

1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 3 7  S I L V E R 

1 3 ”  1 5 ” 
P A R T  N R .  4 0 4  S I L V E R 

1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 4 2  M A T T E  B L A C K

1 5 ” 
P A R T  N R .  2 3 5  B L A C K

1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 3 8  S I L V E R 

1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 4 2  S I L V E R 

1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 4 2  C H A R C O A L  G R E Y

1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 4 2  G L O S S Y  B L A C K

1 4 ”  1 5 ”  1 6 ” 
P A R T  N R .  2 3 6  S I L V E R 

1 5 ” 
P A R T  N R .  2 3 9  S I L V E R 

F
O

R
 V

A
N

S
 A

L S O                             A N C H E  P E R
 F U

R
G

O
N

I

N

E W
 C H A R C O A L  G R E Y  F I N I S H I N

G



121120

TRANSIT 16'' 2014> no ruote 
gemellate/ no twin wheels

TRANSIT 16'' 2014> solo ruote 
gemellate posteriori/only rear 

twin wheels

204 16'' -3mm 204 16'' -3mm

224 16'' -3mm 212 16'' -3mm

230 16'' -3mm 224 16'' -3 mm

232 16'' -3mm 228 16'' -3mm

233 16'' -3mm 230 16'' -3mm

234 16'' -3mm 231 16'' -3mm

235 16''- 3mm 232 16'' -3mm

236 16''- 3mm 233 16'' -3mm

237 16''- 3mm 234 16'' - 3mm

238 16''- 3 mm 235 16'' -3mm

236 16'' -3mm

237 16'' -3mm

238 16'' -3mm

DUCATO 2006-2014  15'' DUCATO 15'' 2014> SCUDO 16'' 2022> TALENTO 16''

209 15'' -3mm 209 15'' - 3mm 204 16'' 204 16''

210 15'' -3mm 210 15'' - 3mm 212 16'' 228 16''

236 15'' -2mm 236 15'' - 2mm 224 16'' 230 16''

238 15'' -2 mm 238 15'' - 2mm 228 16'' 233 16''

DUCATO 16'' 2014> 230 16'' 236 16''

228 16'' - 3 mm 231 16'' 238 16''

236 16'' - 3 mm 232 16''

238 16''- 3 mm 233 16''

234 16''

235 16''

236 16''

237 16''

238 16'' -3mm

Applicazioni MERCEDES - MERCEDES applications Applicazioni PEUGEOT - PEUGEOT applications

Applicazioni FORD - FORD applications

Applicazioni VOLKSWAGEN - VOLKSWAGEN applications

SPRINTER 16'' 2^ SE-
RIE 2006-2018

SPRINTER 16'' 3^ SE-
RIE 2018>

VITO - VIANO 16''

204 16'' 204 16'' 204 16''

228 16'' 228 16'' 228 16''

230 16'' 230 16'' 230 16''

233 16'' 233 16'' 233 16''

236 16'' 236 16'' 236 16''

238 16'' 238 16'' 238 16''

VIVARO 16'' 2019>
VECCHIO MOVANO  16'' 

2006-2021
NUOVO MOVANO  16'' 

2022>

204 16'' 204 16'' 228 16'' - 3 mm

228 16'' 224 16'' 236 16'' - 3 mm

230 16'' 228 16'' 238 16''- 3 mm 

233 16'' 230 16''

236 16'' 231 16''

238 16'' 233 16''

234 16''

236 16''

VECCHIO MASTER 16'' 2010-2019 TRAFIC 16'' 2014>

204 16'' 204 16''

224 16'' 228 16''

228 16'' 230 16''

230 16'' 233 16''

231 16'' 236 16''

233 16'' 238 16''

234 16''

236 16''

NUOVO MASTER 16’’ 2019>

204 16''

230 16''

233 16''

236 16''

Applicazioni RENAULT - RENAULT applications Applicazioni CITROËN - CITROËN applications

Applicazioni FIAT - FIAT applications

Applicazioni OPEL - OPEL applications

TRANSPORTER 16''  2014> CRAFTER 16'' 2^ SERIE

204 16'' 204 16''

228 16'' 230 16''

230 16'' 233 16''

233 16'' 236 16''

236 16'' 237 16''

DAILY  16'' solo ruolte gemellate

204 16'' -3mm

212 16'' -3mm

224 16'' -3mm

228 16'' -3mm

230 16'' -3mm

231 16'' -3mm

232 16'' -3mm

233 16'' -3mm

234 16'' -3mm

235 16'' -3mm

236 16'' -3mm

237 16'' -3mm

238 16'' -3mm

PRIMESTAR - 16”

238 16”- 3mm

Applicazioni IVECO
IVECO applications

Applicazioni NISSAN
NISSAN applications

JUMPY 16''  
2016>

JUMPER 15'' 
2006-2014 JUMPER  15''  2014>

204 16' 209 15''- 3mm 209 15'' - 3mm

212 16'' 210 15''- 3mm 210 15'' - 3mm

224 16'' 236 15'' -2 mm 236 15'' - 2mm

228 16'' 238 15'' -2mm 238 15'' - 2mm

230 16'' JUMPER 16'' 2014> 

231 16'' 228 16'' - 3 mm

232 16'' 236 16'' - 3 mm

233 16'' 238 16''- 3 mm 

234 16''

235 16''

236 16''

237 16''

238 16'' - 3 mm

EXPERT 16'' 2016> BOXER 15'' 2006-2014 BOXER 15'' 2014>

204 16'' 209 15'' -3mm 209 15'' - 3mm

212 16'' 210 15'' -3mm 210 15'' - 3mm

224 16'' 236 15'' -2mm 236 15'' - 2mm

228 16'' 238 15'' -2 mm 238 15'' - 2mm

230 16'' BOXER 16' 2014>

231 16'' 228 16'' - 3 mm

232 16'' 236 16'' - 3 mm

233 16'' 238 16''- 3 mm 

234 16''

235 16''

236 16''

237 16''

238 16'' -3mm

UNIVERSAL WHEEL COVERS 
APPLICATIONS ON VANS



FA R A D  W I N D  D E F L E C T O R S  “ M I N I  D E F L E C T O R ” .

MANUFACTURED FROM SHOCKPROOF AND SPLINTERPROOF MATERIAL, “MINI DEFLECTOR” 
IS AN IMPORTANT ACCESSORY FOR ALL CARS. FAR AD SUPPLIES MOST CAR 
MANUFACTURERS WITH THIS ITEM . NOT ONLY DO DEFLECTORS IMPROVE 
THE APPEAR ANCE OF THE VEHICLE , BUT THEY ALSO PROVIDE THE FOLLOWING 
BENEFITS AND FEATURES:

·   POSSIBILIT Y TO KEEP THE WINDOWS OPEN IN ANY WEATHER CONDITIONS
·  OPTIMIZE AIR CIRCULATION IN CASE OF R AIN 
   OR PRESENCE OF SMOKERS INSIDE THE CAR
·  REDUCTION OF THE USE OF AIR CONDITIONING,  
   RESULTING IN A REDUCTION OF FUEL CONSUMPTION
·  REDUCTION OF NOISE CAUSED BY THE AIR FLOW
·  SAFER AND RELA XED DRIVING WITHOUT DISTR ACTIONS
·  THE COLOR IS TR ANSPARENT SMOKE GREY

D E F L E T T O R I  D ’ A R I A  F A R A D  “ M I N I  D E F L E C T O R ” .

C O S T R U I T I  C O N  M A T E R I A L E  D I  U L T I M A  G E N E R A Z I O N E  A N T I U R T O  E D  A N T I S C H E G G E , 

I  D E F L E T T O R I  D ’ A R I A  F A R A D  C O S T I T U I S C O N O  U N  A C C E S S O R I O  P E R  T U T T E  L E  A U T O . 

I M P O R T A N T I  C A S E  A U T O M O B I L I S T I C H E  U T I L I Z Z A N O  F A R A D  C O M E  F O R N I T O R E  U F F I C I A L E 

D I  Q U E S T O  A R T I C O L O .  T R A  L E  M O L T E P L I C I  U T I L I T À ,  O L T R E  A D  U N  A B B E L L I M E N T O 

E S T E T I C O  D E L L A  V E T T U R A ,  L E  S E G U E N T I  C A R A T T E R I S T I C H E :

·  P O S S I B I L I T À  D I  M A N T E N E R E  I L  F I N E S T R I N O  A P E R T O 

  C O N  Q U A L S I A S I  C O N D I Z I O N E  C L I M A T I C A

·  R I C I R C O L O  D E L L’ A R I A  I N  C A S O  D I  P I O G G I A  O  P R E S E N Z A  D I  F U M A T O R I  I N  A U T O

·  C O N S I S T E N T E  D I M I N U Z I O N E  D E L L’ U S O  D E L  C L I M A T I Z Z A T O R E

·  R I S P A R M I O  E N E R G E T I C O  C O N  C O N S E G U E N T E  R E C U P E R O  S U I  C O N S U M I

·  R I D U Z I O N E  D E L  R U M O R E  C A U S A T O  D A L  P A S S A G G I O  D E L L’ A R I A 

  A L L’ I N T E R N O  D E L L’ A B I T A C O L O

·  S T I L E  D I  G U I D A  P I Ù  C O N F O R T E V O L E  E  S I C U R O  L O N T A N O  D A  P E R I C O L O S E  D I S T R A Z I O N I 

·  C O L O R E  F U M È  S C U R O

WIND DEFLECTORS
D E F L E T T O R I  D ’ A R I A

WIND DEFLECTORS
D E F L E T T O R I  D ’ A R I A

WIND DEFLECTORS
D E F L E T T O R I  D ’ A R I A

WIND DEFLECTORS
D E F L E T T O R I  D ’ A R I A

WIND DEFLECTORS
D E F L E T T O R I  D ’ A R I A

WIND DEFLECTORS
D E F L E T T O R I  D ’ A R I A

WIND DEFLECTORS
D E F L E T T O R I  D ’ A R I A

WIND DEFLECTORS
D E F L E T T O R I  D ’ A R I A

WIND DEFLECTORS
D E F L E T T O R I  D ’ A R I A



125124

FARAD “Mini Def lector ” is easy to install . 
An adhesive f ixing version “With Sticker ” is also available. 
Farad offers a large range of wind def lectors for vans and trucks. 
Thanks to its aerodynamic and attractive shape, 
it  becomes an integral par t of the car.

I  d e f l e t t o r i  d ’ a r i a  F A R A D  “ M i n i  D e f l e c t o r ”  s o n o  f a c i l i  d a  i n s t a l l a r e .
D i s p o n i b i l e  i n o l t r e ,  p e r  a l c u n i  m o d e l l i  d ’ a u t o ,  u n a  v e r s i o n e  c o n  f i s s a g g i o 
a d e s i v o  “ W i t h  S t i c k e r ” .  N o n  t r a s c u r a b i l e  l a  v a s t a  g a m m a  d i  a p p l i c a z i o n i  p e r  i  c a m i o n . 
G r a z i e  a l l a  l o r o  f o r m a  a e r o d i n a m i c a  e  p i a c e v o l e  a l l a  v i s t a ,  a p p a i o n o  c o m e  p a r t e 
i n t e g r a n t e  d e l l ’ a u t o  e  d e i  v e i c o l i  c o m m e r c i a l i .

MINI DEFLECTOR

MINI DEFLECTOR
KITS
FRONT - REAR MINI DEFLECTOR KITS 
In addition to the wide range of front door def lectors 
we can supply a series of complete kits for front 
and rear doors.

K I T  M I N I  D E F L E C T O R  A N T E R I O R E - P O S T E R I O R E
O l t r e  a d  u n a  v a s t i s s i m a  g a m m a  d i  d e f l e t t o r i  p e r  l e  p o r t i e r e  a n t e r i o r i 
f o r n i a m o  t u t t a  u n a  s e r i e  d i  k i t  c o m p l e t i  p e r  i  f i n e s t r i n i  a n t e r i o r i  e  p o s t e r i o r i .

TRUCK
MIN I DEFLECTOR

O u r  te a m ,  u s i n g  t h e  l a te s t 
c o m p u te r i s e d  s y s te m s ,  d eve l o p s  s p e c i f i c 
d e s i g n s  a l s o  f o r  t h e  m o s t  m o d e l s  o f  t r u c k s . 
O u r  ra n g e  i s  c o n s t a n t ly  u p d a te d  to  g u a ra n te e 
h i g h  q u a l i t y  p ro d u c t s ,  f a m o u s  t h e  wo r l d  ove r.

I l  n o s t r o  t e a m ,  g r a z i e  a  s i s t e m i  c o m p u t e r i z z a t i , 
s v i l u p p a  u n  d e s i g n  s p e c i f i c o  a n c h e  p e r  l a  m a g g i o r  p a r t e  d e i  m o d e l l i  d i  c a m i o n . 
u n  c o s t a n t e  a g g i o r n a m e n t o  d e l l a  g a m m a  g a r a n t i s c e  a l l a  c l i e n t e l a 
u n  p r o d o t t o  d i  a l t a  q u a l i t à  f a m o s a  i n  t u t t o  i l  m o n d o .



Torino

Ceresole d’AlbaSanfrè



FARADWORLD . COMFARADWORLD . COMFARADWORLD . COMFARADWORLD . COM

E D I Z I O N E  0 7 / 2 0 2 4


